

कार्यालय - प्राचार्य, शासकीय राजी सूर्यमुखी देवी महाविद्यालय छुरिया जिला - राजनांद्रगांव (छ.ग.)

Email ID - chhuriacollege@gmail.com Phone&Fax - 07745 - 264273

कमांक / ८ 📜 / जी.सी.सी. / पो.मै.छा. / 2020

छुरिया, दिनांक 16/01/2020

प्रति,

सहायक आयुक्त, आदिवासी विकास, राजनांदगांव

विषय:—ऑनलाइन छात्रवृत्ति स्वीकृति प्रस्ताव 2019 — 20 एवं KYC का प्रेषण। सन्दर्भ:—आपके कार्यालय का पत्र क्रमांक 1989/आजाक/आ.ला.पो.मै.छा./2019 — 20 राजनांदगांव दिनांक 20.12.2020

--00--

विषयांतर्गत, इस महाविद्यालय में अध्ययनरत अ.जा / अ.जा. / अ.पि.व. छात्र — छात्राओं का ऑनलाइन छात्रवृत्ति स्वीकृति प्रस्ताव 2019 — 20 तैयार कर स्वीकृति आदेश की 01 प्रति एवं KYC 02 प्रतियों में आवश्यक कार्यवाही हेतु प्रेषित है।

जिसका विवरण निम्नानुसार है -

		T			
कमांक '		वर्ग ।	छात्र संख्या		राशि
.01	्र अ.जा	् नवीन	36	14351990	153810
7.57	rjager i	्रनवीनीकरण	39	े पुरुक्ताहित्यः	175475
		योग	75		329285
02	अ.ज.जा.	नवीन	117		512655
		नवीनीकरण	135	× ×	615705
		योग	252		1128360
03	अ.पि.व.	नवीन	120	***	254897
		नवीनीकरण	182		415673
		. योग	302		670570
	कुलयोग	3	629		2128215

(डॉ. के.एंब. टाण्डकर) भारता प्राप्ता हैंगी भारता प्राप्ता हैंगी भारता क्रांत्वाच प्रतिथा

010.



कार्यालय - प्राचर्श, शासकीय रानी सूर्यमुखी देवी महाविद्यालय छुरिया जिला - राजनांद्रगांव (छ.ग.)

Email ID - chhuriacollegaeigemall.com Phone &Fax - 07745 - 264273

// प्रमाण - पत्र //

प्रसाणित किया जाता है कि संस्था आपाधीय एकी शूर्तमुखी देश महावियांबद हुए हैं। जिला - शंकलंकाव (ए.११) के द्वारा आनिवाइन केट्ट मैद्रिक शुनुक्ति आति, अनुसूद्ध वनर्जाति भया अन्य पिछड़ा वर्ग छात्रवृत्ति हेतु संस्था में अध्ययनरत पात्र विद्यार्थियों को छात्रवृत्ति योजना में लाभान्वित किये जाने हेतु संस्था द्वारा स्वीकृत कर कार्यालय में जमा किया गया है।

	ोन विद्या की संस्ट		•	रवीकृत राशि	τ		त्रीमीव: यार्थियं			श्वीकृत शि	Т	कुल विद्यार्थियों	क्टुल स्वीकृत
ST	SC	OBC	ST	- : sc	ОВС	ST	સંસ્ટ	7	ST	SC	ОВС	ट्डी :	शिश
		020			, obc		5 .	OBC	. 31		OBC	शंख्या -	
117	36	120	512655	153810	,255392	135	39,	182.	₹ 615705	175475	415673	629	2128710

अतः ऑनलाईन पोष्ट मैट्रिक अनुशूचित जाति, अनुशूचित जनजाति तथा अन्य पिछड़ा वर्ग छात्रवृत्ति हेतु पात्र विद्यार्थियों से ऑनलाईन आवेदन, निर्धारित आय सीमा, सक्षम अधिकारी द्वारा जारी जाति पुवं निवास प्रमाण पत्र तथा आवेदन में दर्ज किए गए खाता क्रमांक का परीक्षण पुवं खाता संचालन की अवस्था पुवं छात्रवृत्ति हेतु स्वीकृत की गई शिक्षण शुक्क/ अन्य शुक्क का परीक्षण भली - भांति किया गया है। अतः कुल 629 विद्यार्थियों की राशि 2128710.00 को दिनांक . 26/22/200 के द्वारा डिस्बर्स कर भुगतान करने की अनुशंसा की जाती है। उपरोक्त जानकारी गलत होने पर सम्पूर्ण जवाबदारी संस्था की होगी।

दिनांक

प्राचार्य

शासकीय रानी सूर्यमुखी देवी महाविद्यालय छुरिया, जिला - राजनांद्रगांव (छ.श.)



Gost Rani Surgamutho devi Collège Chhuria Sanction order for Scholarship 2019 - 20

Category: SC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Sanction Number: N/9/1961/1/9/94451

State: Government of Chhattisgarh

Sanction Date : 15/01/2020

Academic Year: 2019-20

Applications Type: F sh

Andrewson and the second second	OTHER PROPERTY OF STREET, STRE	TALL STREET, S		Contraction of the Contraction o			AND DESCRIPTION OF PARTY AND DESCRIPTION OF PERSONS ASSESSMENT OF	And the second s			The second secon
4185	1485	148.	0	2700	300	9	Fresh	B. A./Arts/I	Female [1659189 KUMARI BIRAM	16591
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female I	1659120 KUMARI KUNIKA	16591
4185	1485	1485	0	2700	300	9	Fresh	B. Com./Commerce/I	Male .	1658351 VIJENDRA KUMAR	16583
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female	1644465 MANISHA KHILADI	1644
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female	1633352 EINDU JANGDE	1633
3915	1515	1515	. 0	2400	300	8	Fresh	B. Sc./Maths/I	Male .	1384682 RAHUL BANDHE	1384
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	1283863 CHAMELEE MAHAR	1283
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1636383 TARUNA LAUTRE	1636
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1662663 BHARTI BANJARE	1662
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male -	1698582 RAMESH KUMAR SARJARE	1698
4185	1435	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1663685 MANISHA BODELKAR	1663
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1718191 VISHAKHA TEMBULKAR	1718
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1712794 YAMINEE SAHARE	1713
4185	1485	1485	0,	2700	300	9	Fresh .	B. A./Arts/I	Female	1719837 KALESHWARI LAUTRE	1719
4185	1485	1485	۵٫	2700	300	9	Fresh	B. A./Arts/I	Female	1671611 SONAM SAHARE	167
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	1282370 KUMARI VINITA	128
5725	1485	1485	, 0	4240	530	8	Fresh .	M. A./Hindi/I	Female	1274101 BHARTI KAMLESHWAR	127
Total Amount		Other Fee. Total Fee	Tuition Fee	Maintenence Allowance	Rata	No. of Month	Туре	Course	Gender	n ID Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......os maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

This Sanction is gel ត្រាន់គ្រប់ព្រះទ្រប់ប្រាស់ទាប់ អ្នកវិទ្ធារៀ Printed on 1/15/2020

(Signature & Sentat Head of the Institution)

श्वामा सिम्पूर्व होती श्वामा अवस्था अवस्था

Date :

Place:

Category: SC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/1961/1/9/94451

Sanction Date: 15/01/2020

Applications Type: Fr-sh

Application ID	Student Name	Gender	Course	Type, **	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1669185 BH	1669185 BHUNESHWARI DEVDAS	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1515	1515	4215
1671758 YO	1671758 YOGESH KUMAR TEMBUKAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1485	1485	3885
1697553 NIF	1697553 NIRASHA TANDEKAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	
1704464 KUMARI ALKA	MARI ALKA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1515	1515	4215
1730490 DH	1730490 DHARMENDRA KUMAR SAHARE	Male ·	B. Sc./Science/I	Fresh	9	300	2700	0	1515	1515	4215
1726281 POONAM UYKE	DNAM UYKE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1721564 TAK	1721564 TAKESHWARI KOCHE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1704848 PRA	1704S4S PRADEEP KUMAR JAGNE	Male .	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1723226 TUS	1723226 TUSHIYAR SAHARE	Male .	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
171516S AMAN KUMAR	IN KUMAR	Male	B. A./Arts/I	Fresh	8	300	2400	0	1485	1485	3885
1700035 BHA	1700035 BHANBATI MAHAR	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1515	1515	3915
1690729 RASHMI BANDHE	HMI BANDHE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1515	1515	3915
1684554 HEM	1684554 HEMANT RAMKUMAR KHUTEL	Male ·	B. Com./Commerce/I	Fresh	9	300	2700	0	1485	1485	4185
1684275 REE	1684275 REENA MARKANDE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1677890 KAN	1677890 KANTA NANDESHWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1669626 KHE	1669626 KHEMESHWAR GANDHARVA	Male .	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1659345 BHUI	1659345 BHUPESH KUMAR BANJARE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	151	1515	4215
1682305 DIVYA BANJARE	A BANJARE	Female	B Sc /Science/I	Fresh	9	UUE	2700	0	1515	1515	2107

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date:

(Signature & Sear of the Institution)

Name (तिकृष्ण मिन्स्य क्रिक्र होती

This Sanction is gene land by Sprofership Poffer Printed on 1/15/2020

Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Sanction Number: N/9/1961/1/9/94451

State: Government of Chhattisgarh

Sanction Date : 15/01/2020

Academic Year: 2019-20

1697864 PRADEEP KUMAR Student Name Male Gender B. Sc./Science/I Fresh Total: 300 100020 2400 Tuition Fee Other Fee-Applications Type: Fresh 53790 1515 53790 1515 153810 3915

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place:

Date:

(Signature & Seal of Head of the Institution) Name (Gap) tal Lister विस्ता होती

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category:

Academic Year: 2019-20

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

State: G"yernment of Chhattisgarh

Sanction Number: R/9/1961/1/9/94485

Sanction Date: 15/01/2020

Applications Type: Renewal

*		deline and the same of the same of	No. 76 of Concession Comment or other Department of the Publishers	or provide contract of the last of the last contract of	Section of the last of the las	The second secon					
3915	1515	1515	0	2400	300	8	Renewal	B. Sc./Science/III	Male ,	1480043 PRASHANT KUMAR	1480043
4815	. 1515	1515	0	3300	300	11	Renewal	B. Sc./Science/III	Female 1	1435446 KUMARI JYOTI	1435446
3585	1485	1485	0	2100	300	7	Renewal · ·	B. A./Arts/II	Female :	1423414 LEKH KUMARI TEMBURKAR	1423414
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Male .	1409897 DEEPAK KUMAR	1409897
4785	1485	148.	0	3300	300	11	Renewal	B. A./Arts/III	Female ,	1404997 HITESHWARI KOCHE	1404997
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Female ,	1392782 RESHMI TEMBULKAR	1392782
4815	1515	1515	0	3300	300	11	Renewal	B. Sc./Science/III	Female ,	1390786 MANKI GANDHARV	1390786
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Female .	1380430 NEHA KHUTEL	1380430
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Female .	1374385 SEEMA JAGANE	1374385
4785	1485	1485	0	3300	300	=	Renewal	B. A./Arts/III	Female :	1372511 MADHU SATNAMI	1372511
3885	1485	1485	0	2400	300	8	Renewal	B. A./Arts/III	Male ,	1365797 HAMESH NANDESHWAR	1365797
3585	1485	1485	0	2100	300	7	Renewal	B. A./Arts/II	Female :	1352629 MONIKA KAMLESHWAR	1352629
3885	1485	. 1485	0	2400	300	8	Renewal	B. A./Arts/III	Female :	1346702 WASHIKA SIRMOUR	1346702
.3885	1485	1485	0	2400	300	8	Renewal	B. Com./Commerce/II	Female.	1340145 DESMI TEMBHURKAR	1340145
7315	1485	1485	<u>0</u>	5830	530	11	Renewal	M. A./Hindi/II	Female	1203525 MAHESHWARI TEMRE	1203525
3885	1485	. 1485	0	2400	300	8	Renewal	B. A./Arts/III	Female .	1193518 BHANUMATI GENDE	1193518
7315	1485	· 1485	0	5830	530	11	Renewal	M. A./Hindi/II	Male	1174455 TUMMAN LAL SAHARE	1174455
Total Amount	Total) ee	much rec	i ilitidii i ee	Allowance	rkate	Month	sid/št	Collise	Sellue		

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is etected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

(Signature & Seal of the Institution) Name (Sapital Jack

This Sanction is gene land by Representation Planted on 1/15/2020

Category: SC

Institute Name: GOVT RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: G remment of Chhattisgarh

Sanction Number: P. J/1961/1/9/94485

Sanction Date: 15/01/2020

Applications Type: Perewal

171	1719	1711	166	151	331	160	153	Iā.	15	Fá.	FS.	153	150	N.	15	1.5	1.0	Application ID
1711001 HEMANT KUMAR JANGDRE	1719155 DHALESHVARI GADPAYLE	1710388 VIJAY KUMAR	1694997 HUMMAN DAS	1637057 VARSHA KAMDE	1522720 OMPRAKASH UNE	1501005 DEEPAK GANDHARV	1554225 KHUSHBOO AMBADE	1550276 TOKESHWARI JANGDE	1538157 MAMTA BANDHI	1534854 KHILESHWARI MESHRAM	1521289 PARMESHWARI KOTHARI	1519541 VINITA JAMULKAR	LS08955 DHARMENDRA KUMAR	ISO2486 MANOJ KUMAR KOTHARI	120000 SANSHI RANGARI	ISCOSOS DIPIKA JANGADE	NEWYN INPINITY 2806691	on ID Student Name
Male .	Female *	Male .	Male ,	Female	Male .	Male .	Female :	Female	Female 、	Female.	Female .	Female -	Male .	Male .	Female ,	Female .	Female.	Gender
B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. Sc./Science/II	B. A./Arts/II	B. A./Arts/II	B. Sc./Science/II	B. A./Arts/II	B. Sc./Science/II	B. Sc./Science/II	B. Sc./Maths/II	B. A./Arts/11	B. Sc./Science/II	Course
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Type
7	8	7	7	8	8	7	=	E	E	1	E	=	8	11	10	1	11	No. of Month
300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	Rata
2100	2400	2100	2100	2400	2400	2100	3300	3300	3300	. 3300	3300	3300	2400	3300	3000	3300	3300	Maintanence T
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	Tuition Fee O
1485	1485	1485	1485	146	1485	1485	1485	1515	1485	1485	1515	1485	1515	1515	1515	1485	1515	Other Fee
1485	1485	1485	1485	1485	1485	- 1485	1485	1515	1485	1485	1515	1485	1515	1515	1515	1485	1515	Total Fee
3585	3885	3585	3585	3885	3885	3585	4785	4815	4785	4785	4815	4785	3915	4815	4515	4785	4815	Total Amount

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Page 2/3

(Signature & Seal of Head of the Institution)
Name (Capital में स्थाप है।।
Name (Capital में स्थाप है।।

महाविद्यात्म्य प्रतिया

This Sanction is general the Septime Pount Printed on 1/15/2020

Place : Date :

Sanction Kegisterior Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh,

Sanction Number: R/5/1961/1/9/94485

Applications Type: Renewal

Sanction Date :

1_/01/2020

0 0		2400 00 3300	300 300	11	Renewal Renewal	B. Sc./Science/III B. A./Arts/III	Female 、 Male 、	1575867 JITENDRA SINGH TEMURKAR	157586
	0	3300	300	11	Renewal	B. A./Arts/III	Male ,	1559993 MANGAL BANJARE	155999
	0	3300	300	11	Renewal	B. A./Arts/II	Female	1495617 MEERA MAHAR	149561
on Fa	Tult	Maintenence Allowance	Rate	No. of Month	Тура	Course	Gender	Student Name	Application II

Declaration :

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

5- 11

Place : Date :

(Signature & Seal of Head of the Institution)

Name (Capital be left):

This Sanction is generated by Scholarship Portal Printed on 1/15/2020

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Government of Chhattisgarh

Sanction Number: N/9/1961/3/10/94489

Applications Type: Fresh Sanction Date: 15/01/2020

8 110 880 0 1425 1435 8 110 880 0 1425 1435 8 110 880 0 1425 1435 8 110 880 0 1425 1435 8 110 880 126 142 1611 8 110 880 126 1435 1435 9 70 630 0 1435 1435 9 70 630 0 1435 1435 9 70 630 0 1485 1600 9 70 630 0 1485 1485 9 70 630 0 1485 1485 9 70 630 0 1485 1485 9 70 630 0 1485 1485 9 70 630 0 1485 1485 9 70 630 0 1485 1485 9 70 630 0<	Application ID Stur	Student Name	Gender	Course	Туре	No. of	Rata	Maintenence Allowance	ntenence Tuition Fee	Other Fee	Total Fee	Total Amount
VISHVKARMA Female N. A,Hindi/I Fresh 8 110 880 0 1435 1435 SAHU Female N. A,Hindi/I Fresh 8 110 880 0 1435 1435 TIN Female N. A,Hindi/I Fresh 8 110 880 0 1435 1435 PAL Male N. A,Hindi/I Fresh 8 110 800 126 1435 1435 YADU Female M. A,Hindi/I Fresh 8 110 800 126 1435 1435 YADU Female M. A,Hindi/I Fresh 8 100 800 126 1435 1435 YADU Female B. A/Arts/I Fresh 8 100 800 126 1435 1435 I FARKUNDE Female B. A/Arts/I Fresh 9 70 630 0 1435 1435 I FARKUNDE Female B. A/Arts/I	577587 RENUKA KU	MARI	Female .	M. A./Hindi/I	Fresh		110	880	0	1425	1485	2365
SAHU Female N. A./Hindi/I Fresh 8 110 880 0 1435 1435 TIN Female N. A./Hindi/I Fresh 8 110 880 0 1435 1435 PAL Male N. A./Hindi/I Fresh 8 110 880 0 1435 1435 YADU Female N. A./Hindi/I Fresh 8 110 880 0 1435 1435 YADU Female N. A./Hindi/I Fresh 8 110 880 0 1445 1445 YADU Female N. A./Arts/I Fresh 8 110 880 0 1445 1445 I FARXUNDE Female N. A./Arts/I Fresh 9 70 630 0 1435 1451 I FARXUNDE Female N. A./Arts/I Fresh 9 70 630 0 1435 1455 1455 I FARXUNDE Female N.	1268866 DIKESHWAR	I VISHVKARMA	Female .	M. A./Hindi/I	Fresh	&	110	880	0	1485	1485	2365
IIIN Female M. A,/Hindl/I Fresh 8 110 880 0 1435 1435 PAL Male M. A,Hindl/I Fresh 8 100 800 126 142 1611 YADU Female M. A,Hindl/I Fresh 8 110 800 126 145 1611 YADU Female M. A,Hindl/I Fresh 8 110 800 126 145 1611 YADU Female B. A,Arts/I Fresh 8 110 800 126 1435 1611 I FARKUNDE Female B. A,Arts/I Fresh 9 70 630 0 1435 1611 I FARKUNDE Female B. A,Arts/I Fresh 9 70 630 0 1435 1435 J Female B. Sc/Science/I Fresh 9 70 630 0 1485 1485 HUU Female B. A,Arts/I Fresh <	1270228 RUKHMANEE	SAHU	Female .	M. A:/Hindi/I	Fresh	8	110	088	0	1485	1485	2365
PAL Male M. A/Hindi/I Fresh 8 100 800 125 142 1611 YADU Female M. A/Hindi/I Fresh 8 110 800 125 145 1435 <	1295610 KU LACHHA	NIIN	Female .	M. A./Hindi/I	Fresh ·	&	110	880	0	1485	1485	2365
YADU Female M.A./Hindi/I ✓ Fresh 8 110 880 0 1435 1435 MAR SAHU Male M.A./Hindi/I ✓ Fresh 8 100 800 126 1435 1611 MAR SAHU Male B. A./Arts/I Fresh 9 70 630 0 1435 1611 I FARKUNDE Female B. A./Arts/I Fresh 9 70 630 0 1435 1611 SAHU Male B. A./Arts/I Fresh 9 70 630 0 1155 1435 R Male B. A./Arts/I Fresh 9 70 630 0 1435 1600 LEE Female B. A./Arts/I Fresh 9 70 630 0 1485 1435 HUU Female B. A./Arts/I Fresh 9 70 630 0 1485 1435 U Female B. A./Arts/I Fresh	1353677 GULABOHAN	D PAL	Male	M. A/Hindi/I	Fresh	8	100	800	126	34	1611	2411
MAR SAHU Male M.A./Hindi/I \rightarrow Fresh 8 100 800 126 1485 151 I FARKUNDE Female B. A./Arts/I Fresh 9 70 630 0 1485 1435 SAHU Male B. A./Arts/I Fresh 9 70 630 0 1485 1600 R Male B. A./Arts/I Fresh 9 70 630 0 1515 1515 R Male B. A./Arts/I Fresh 9 70 630 0 1515 1515 HU Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 U Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 U Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. A./A	1372025 YOGESHWAF	U YADU	Female	M.A./Hindi/I	Fresh	8	110	880	0	1485	1485	2365
FARKUNDE Female B. A,/Arts/I Fresh 9 70 630 0 1435 1435 SAHU Male. B. A,/Arts/I Fresh 9 55 495 115 1435 1500 1435 1435 1500 1515 1485 1600 1515 1485 1600 1485	1545498 DEVENDRA	UMAR SAHU	Male	M. A./Hindi/I	Fresh ·	8	100	800	126	1485	1611	2411
SAHU Male. B. A./Arts/I Fresh 9 55 495 115 1435 1600 R Female B. Sc./Science/I Fresh 9 70 630 0 1515 1515	1619628 DHANESHW	RI FARKUNDE	Female	B. A./Arts/I	Fresh	9	70	630	0	1485	1485	2115
Female B. Sc./Science/I Fresh 9 70 630 0 1515 1515 R Male B. A./Arts/I Fresh 9 55 495 115 1485 1600 LEE Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. Sc./Science/I Fresh 9 70 630 0 1485 1485 U Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 I Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 I Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1628294 OMPRAKASH	SAHU	Male.	B. A./Arts/I	Fresh	9	55	495	115	1485	1600	2095
R Male B. A./Arts/I Fresh 9 55 495 115 1485 1600 LEE Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. Sc./Science/I Fresh 8 70 560 0 1515 1515 U Female B. A./Arts/I Fresh 9 70 630 0 1485 -1485 I Female B. A./Arts/I Fresh 8 70 560 0 1485 -1485 I Female B. A./Arts/I Fresh 8 70 630 0 1485 1485	1633614 PAYAL SINH	>	Female	B. Sc./Science/I	Fresh	9	70	630	0	1515	1515	2145
LEE Female B. A,/Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. A,/Arts/I Fresh 9 70 630 0 1485 1485 HU Female B. Sc./Science/I Fresh 9 70 560 0 1485 1515 U Female B. A,/Arts/I Fresh 9 70 630 0 1485 1485 I Female B. A,/Arts/I Fresh 8 70 560 0 1485 1485 I Female B. A,/Arts/I Fresh 8 70 630 0 1485 1485	1638962 RITESH KUN	AR.	Male	B. A./Arts/I	Fresh	9	55	495	115	1485	1600	2095
HU Female B. A./Arts/I Fresh 9 70 630 0 1485 1485 Female B. Sc./Science/I Fresh 8 70 560 0 1515 1515 U Female B. A./Arts/I Fresh 9 70 630 0 1485 -1485 Female B. A./Arts/I Fresh 8 70 560 0 1485 1485 Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1638826 KUMARI AN	JALEE	Female	B. A./Arts/I	Fresh	9	70	630	0	1485	1485	2115
Female B. Sc./Science/I Fresh 8 70 560 0 1515 1515 U Female B. A./Arts/I Fresh 9 70 630 0 1485 -1485 I Female B. A./Arts/I Fresh 8 70 560 0 1485 1485 Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1639388 KARISHMA 9	AHU	Female	B. A./Arts/I	Fresh	9	70	630	0	1485	1485	2115
U Female B. A./Arts/I Fresh 9 70 630 0 1485 · 1485 / Female B. A./Arts/I Fresh 8 70 560 0 1485 1485 Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1652092 ANITA SAHL		Female	B. Sc./Science/I	Fresh	8	70	560	0	1515	:515	2075
/ Female B. A./Arts/I Fresh 8 70 560 0 1485 1485 Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1654987 CHANDNI S	된	Female	B. A./Arts/I	Fresh	9	70	630	0	1485	- 1485	2115
Female B. A./Arts/I Fresh 9 70 630 0 1485 1485	1649038 SUMAN YAD	AV	Female	B. A./Arts/I	Fresh	8	70	560	0	1485	1485	2045
	1660295 SONITYA SAH	Ĉ	Female	B. A./Arts/I	Fresh	9	70	630	0	1485	1485	2115

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

(Signature & Seal of Head of the Institution)
Name (Capital Little) है। देवी

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURÍA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/1961/3/10/94489

Applications Type: Fresh

Sanction Date: 15/01/2020

1515	1515	0	560	, 70	8	Fresh	B. Sc./Science/I	Female	1633562 TYOTI YADAV	1633562
1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male ·	1627058 UMESH KUMAR	1627058
1485	1485	0	880	110	8	Fresh	M. A./Hindi/I	Female	1392045 AARTI SINHA	1392045
1600		(115)	495	55	9	Fresh	B. A./Arts/I	Male ,	1638718 BHUSHAN KUMAR	1638718
1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male .	1644234 SHIVAM DAS VAISHNAV	1644234
1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male .	1651858 NARAD LAL	1651858
1600	1485	115	440	55	8	Fresh	B. A./Arts/I	Male.	1655449 JAGESHWAR KUMAR	1655449
1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male _.	1655551 PUSHPENDRA KUMAR	1655551
1690	1485	115	495	55	9	Fresh	B. Com./Commerce/I	Male-	1662338 AVAN DAS	1662338
1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1662514 ANJALI SAHU	1662514
1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1669828 LILESHWARI SAHU	1669828
1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1671077 JAYLALITA YADAV	1671077
1485	148.	0	630	70	9	Fresh	B. A./Arts/I	Female	1671320 BHUNESHWARI YADAV	1671320
1630	151 ^E	115	495	55	9	Fresh	B. Sc./Science/I	Male_	1668793 DURGESH KUMAR	1668793
1485	1485	, 0	630	70	9	Fresh	B. A./Arts/I	Female	1664827 KUMARI GODAWARI	1664827
1485	1485	0	560	70	8	Fresh	B. A./Arts/I	Female	1664296 SARASWATI RAJAK	1664296
1600	1485	115	495	55	9	Fresh	B. Com./Commerce/I	Male _	1662849 TOOMAN LAL	1662849
1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1659838 YOGITA SAHU	1659838
21 (1910) 1.5	Objections	THE PROPERTY.	Allowance Luidon Feet Constitute Floraince	Rake	No. of Month	īype	Course.	Gender	Student Name	Application ID

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it/; detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)

महामेदास्य वृद्धिया

This Sanction is generated by Schlolarship Portal. Printed on 1/15/2020

Scholarship Scheme:

Post Matric OBC Scholarship

State: Government of Chhattisgarh

Sanction Number: N/9/1961/3/10/94489

Sanction Date: 15/01/2020

Applications Type: Fresh

Category: OBC
Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1697910 MONA SAHU	1697910
	1600	1485	115	440	55	8	Fresh	B. A./Arts/I	Male	1698072 DINESH KUMAR	1698072
	1485	. 1485	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1698205 JANKI PATEL	1698205
1014	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1698429 MONIKA PATEL	1698429
	1485	1485	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1699076 SHEETAL SAHU	1699076
* * * * * * * * * * * * * * * * * * * *	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1659519 PRATIMA SINHA	1659519
	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1663762 MANISHA SAHU	1663762
(<u>#</u>	1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male	1672529 AJAY KUMAR	1672529
	1600	1485	115	440	55	8	Fresh	B, A,/Arts/I	Male	1675833 YUVRAJ SAHU	1675833
	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1664141 YOGESHWARI KUMBHKAR	1664141
	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1660181 DEMIN SAHU	1660181
	1600	1485	. 115	495	55	9	Fresh	B. Com./Commerce/I	Male ,	1644773 DAGESHWAR KUMAR	1644773
	1485	148.	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1653035 POOJA SAHU	1653035
2095	1600	1485	115	495	55	9	Fresh	B. Com./Commerce/I	Male _.	1655738 BHAVESH DAS	1655738
	1630	1515	115	495	55	9	Fresh	B. Sc./Maths/I	Male .	1645403 BIKESH KUMAR	1645403
	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1644222 KIRAN SAHU	1644222
	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1639433 JAYANTI SAHU	1639433
	1600	1485	115	440	55	8	Fresh	B. A./Arts/I	Male	1637889 BASANT KUMAR	1637889
Total Amount	Total Fee	Other Fee	Tuition Fee	Allowance Tuition Fee Other Fee	Rate	No. of Month	Туре	· Course	Gender	Student Name	Application 10

Declaration :

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters)
Name (Capital Leters)



Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

· State: Government of Chhattisgarh

Sanction Number: N/9/1961/3/10/94489

Sanction Date : 15/01/2020

Applications Type: Fresh

					,			1 1 1 1			
2125	1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male	1677520 YADRAM SAHU	1677
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1675968 KHEMLAL SAHU	1675
2115	1485	1485	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1670032 MENKA SAHU	1670
2145	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1664598 TEEJESHWARI SAHU	1664
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1663991 MITU SAHU	166
2075	1515	1515	0	560	70	8	Fresh	B. Sc./Science/I	Female	1662924 NEELIMA VAISHNAV	166.
2125	1630	, 1515	115	495	55	9	Fresh	B. Sc./Science/I	Male .	1709579 RAHUL KUMAR	170
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male ·	1709770 KHOMAN DAS	170
2115	1485	1485	0	630	70	9	Fresh	B. Com,/Commerce/I	Female	1716200 PRATIBHA YADAV	171
2115	1485	1485	. 0	630	70	9	Fresh	B. A./Arts/I	Female	1717787 YAMINI SAHU	171
2125	1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male .	1718015 DEVANAND SAHU	171
2075	1515	151.	0	560	70	8	Fresh	B. Sc./Science/I	Female.	1718047 HINESHWARI SAHU	171
2125	1630	151"	115	495	55	9	Fresh	B. Sc./Science/I	Male .	1718141 SURENDRA KUMAR	171
3 × 12 ′2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female.	1719064 REENA YADAV	171
2070	1630	1515	115	440	55	8	Fresh	B. Sc./Science/I	Male .	1719339 BHUPESH KUMAR	171
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1693413 KAVITA YADAV	169
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male.	1694345 TEMESHWAR SAHU	169
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1696224 KOMAL SAHU	169
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туря	Course, "	Gender	ion ID Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is getected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ...

Page 4/7

(Signature & Seal of Head of the Institution)

Name (Capitable (19))

Name (Name (19))

Name (Na

This Sanction is ger Breing the Saffolia Sin Borgal, Printed on 1/15/2020

Place : Date :

Category: OBC

Institute Name GOVT RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year 2019/20

Sanction Number: N/9/1961/3/10/94489

State: Government of Chhattisgarh

Sanction Date: 15/01/2020

Applications Type Fresh

2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1729551 MANENDRA KUMAR
2040	1600	1485	115	440	- 55	8	Fresh	B. A./Arts/I	Male.	1735613 PUSHPENDRA SINHA
2040	1600	1485	115	440	55	8	Fresh	B. A./Arts/I	Male	1736633 VIKAS KUMAR
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1708457 DILPA SINHA
2075	1515	1515	0	560	70	8	Fresh	B. Sc./Science/I	Female	1700977 PRITTI SAHU
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1704012 MOHIT KUMAR
2145	5151	1515	0	630	70	9	Fresh	B. Sc./Maths/I	Female	1704240 TARUN KUMARI SAHU
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1690155 CHAMAN DAS
2145	1515	1515	o	630	70	9	Fresh	B. Sc./Science/I	Female	1690313 LAVNIKA SAHU
	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1693305 SANTOSHI SAHU
2115	1495	141	0	630	70	9	Fresh	B. A./Arts/I	Female	1699398 PRAGYA SAHU
2115	1485	1485	O	630	70	9	Fresh	B. A./Arts/I	Female	1687392 NUMESHWARI SAHU
	1515	1515	a	630	70	9	Fresh	B. Sc./Science/I	Female	THYS YNESS 2066391
2145	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1683848 PARWATI SINHA
20%	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1682122 ROSHAN KUMAR
2115	1485	1485	a	630	70	9	Fresh	B. A./Arts/I	Female	1679361 NAND TELL
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/1	Female	1679059 KUMARI PENIKA
2145	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1678846 SHWETA SHENDE
Total Amoun	local tole		Prof. upp. lp.	Allowance	1010	Mo. of	Type	Course	Gender	Application ID Student Name

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the

Date : Place:

(Signature & Seal of Head of the Institution)

This Sanction is gentlethot to School by Portal, Printed on 1/15/2020

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

D ID	
Stude	Academic Yea
nt Name	ar: 2019-20
Gender	
ourse	
Туре	
No. of Month	
Rate	
Maintenen Allowano	
ce Tuition F	Applicat
ee Other Fe	tions Type : F
e Total Fe	resh
e Total Ar	47
mount >	
-	

Sanction Number: N/9/1961/3/10/94489

State: Government of Chhattisgarh

Sanction Date : 15/01/2020

C+07					-						
JOAG	1485	1485	0	560	70	8	Fresh	B. Com./Commerce/I	Female	1728808 HEMIN YADAV	1728808 H
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1719392 OMKUMARI SINHA	1719392 0
2125	1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male	1707648 SANJAY KUMAR SAHU	1707648 S
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male,	1705399 RAKESH KUMAR SAHU	1705399 R
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1704596 RANJU SAHU	1704596 F
2005	1515	1515	0	490	70	7	Fresh	B. Sc./Maths/I	Female	1690225 PRIYA SAHU	1690225
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1687284 HARISHA KUMARI	1687284
2145	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1687056 TRILESHWARI VAISHNAV	1687056
2145	1515	151	0	630	70	9	Fresh	B. Sc./Science/I	Female	1684610 MANISHA KUMBHKAR	1684610
2095	1600	1485	115	495	55	9	Fresh	B. Com./Commerce/I	Male,	1684396 KHEMCHAND SAHU	1684396
2075	1515	1515	0	560	70	8	Fresh	B. Sc./Science/I	Female	1684195 DIKSHA JHODE	1684195
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1679179 TIPESHWARI SAHU	1679179
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male .	1677793 DINESH KUMAR	1677793
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1720126 KUSUM LATA SAHU	1720126
2145	1515	1515	0	630	70	9	Fresh	B. Sc./Science/I	Female	1725778 AAKANKSHA SAHU	1725778
2125	1630	. 1515	115	495	55	9	Fresh	B. Sc./Science/I	Male ,	1726356 PUNIT KUMAR	1726356
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male	1728282 DEEPAK KUMAR YADAV	1728282
2145	1515	1515	. 0	630	70	9	Fresh	B. Sc./Science/I	Female	1729432 BHUGESHWARI SAHU	1729432
Total Amount	.Total Fee	en den KOMBONI	Tuition Fee Other Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it, is, detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place:

Date:

(Signature & Seal of Head of the Institution)

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

100000000000000000000000000000000000000	olication ID Stude	Academic Ye
	int Name	Academic Year: 2019-20
	Gender	
7	Соцгзе	
	Туре	
	No. of Rai	
55	6	
405	faintenence Tuiti Allowance	App
115	on Fee Oth	olications Typ
1485	her Fee	e: Fresh
1600	Total Fee To	
2095	tal Amount	

Sanction Number: N/9/1961/3/10/94489

State: Government of Chhattisgarh

Sanction Date: 15/01/2020

20000	779407	1/9310	5312	702/5	Total :						
25,007					55	9	Fresh	B. A./Arts/I	Male	1740800 DILESHWAR KUMAR SAHU	1740
17					1 70	9	Fresh	B. Com./Commerce/I	Female	1719566 REMIN SAHU	171
2116		1515	1.0	The state of the s	70	9	Fresh	B. Sc./Science/I	Female	1709722 ROSHANI SAHU	170
2175	1600	:	115		55	9	Fresh	B. A./Arts/I	Maie ,	1705809 VEDVYAS SAHU	170
2115	1485	1485	0	630	70	. 9	Fresh	B. A./Arts/I	Female	1704258 SONI SAHU	170
2125	1630	1515	115	495	55	9	Fresh	B. Sc./Science/I	Male*	1704709 VIKASH KUMAR SAHU	170
2115	1485	1485	0	630	70	9	Fresh	B. Com./Commerce/I	Female	1692990 HEMEEN SAHU	169
2115	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1694183 DAMINI SAHU	169
CT17	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1705053 BHAGWATI SAHU	170
2607	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male,	1707423 NIRMAL KUMAR	17
2045	1485	1485	0	560	70	8	Fresh	B. A./Arts/I	Female	1709799 PRIYA SINHA	17
211	1485	1485	0	630	70	9	Fresh	B. A./Arts/I	Female	1722481 PREETI SINHA	17
2095	1600	1485	115	495	55	9	Fresh	B. A./Arts/I	Male ·	1723167 LEELADHAR SAHU	17
total Amount	aay (e)o (Other Fee	Tuition Fee	Allowance Tuition Fee Other Fee	Rate	No. of Month	Type	Course	Gender	ion ID Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature & Seal of Head of the Institution)

Date :

Place:

This Sanction is gener 根据的文章结构设备特色中的inted on 1/15/2020

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/3/10/94502

Sanction Date: 15/01/2020

Applications Type: Renewal

	1630	1515	115	560	2	c		The state of the s			
	1,00	1.00		-	70	α	Renewal	B. Sc./Maths/II	Male	1373394 BHUNESHWAR KUMAR SAHU	1373394 E
-	1485	1485	- 0	935	85	=	Renewal	B. A./Arts/III	Female E	1363369 POOJA SAHU	1363369
	1485	1485	0	935	85	=	Renewal	B. Com./Commerce/III	Female	1353438 AMERIKA SAHU	1353438
	1515	1515	0	680	85	8	Renewal	B. Sc./Science/III	Female	1355754 BODHAN VISHWAKARMA	1355754
	1485	1485	. 0	935	85	11	Renewal	B. A./Arts/III	Female	1355943 DIKESHWARI SAHU	1355943
	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female	1352237 JYOTI SAHU	1352237
A STATE OF THE PERSON NAMED IN COLUMN NAMED IN	1485	1485	0	935	85	п	Renewal	B. A./Arts/III	Female	1352280 OMESHWARI SAHU	1352280
	1485	1485	0	935	85	11	Renewal	B. A./Arts/III	Female	1340664 BHAGWATI SAHU	1340664
	1600	1485	115	560	70	8	Renewal	B. A./Arts/III	Male .	1338518 RAMKUMAR SAHU	1338518
	1485	1485	0	1210	110	11	Renewal	M. A./Hindi/II	Female	1170687 SUMAN KUMBHKAR	1170687
	1611	1485	126	1100	100	=	Renewal	M. A./Hindi/II	Male	1160485 NARESH KUMAR SAHU	1160485
	1600	1485	115	560	70	8	Renewal	B. A./Arts/III	Male .	1014087 KHILAWAN KUMAR	1014087
-3.12	1600	1485	115	560	70	8	Renewal	B. A./Arts/III	Male ,	826681 KAMLESH KUMAR	826681
	1600	1485	115	490	70	7	Renewal	B. A./Arts/II	Male .	826575 GOVINDA RAM	826575
	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female.	675896 DULESHWARI SAHU	675896
	1600	1485	115	490	70	7	Renewal	B. A./Arts/II	Male .	675451 HRIDAY RAM	675451
	1600	1485	115	770	70	11	Renewal .	B. A./Arts/III	Male .	674197 NOHAR RAM VARMA	674197
Total Amouni	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of	Туре	Course	Gender	Sugentiname	Application 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters)

Name (Capital Leters)

Name (Capital Leters)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Academic Year: 2019-20

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

-	1,495	1405	0	227	27	Annual Control of Cont	The state of the s	B A /A+=/III	Eomala	1370606 SINITA DHIMAR
	1630	151	115	770	70	11	Renewal	B. Sc./Maths/III	Male	1372909 LAKESHWAR KUMAR SAHU
Total A	Total Fee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	ŢŲpa	Сошъе	Gender	Application ID Student Name

Applications Type: Renewal

Sanction Number: R/9/1961/3/10/94502 Sanction Date: 15/01/2020

State: Government of Chhattisgarh

Application 10 Stu	Student Name	Gender	Course	Ţype	No. of	Rate	Maintenence Tuition Fee Other Fee	Tuition Fee	Other Fee	(Jotal) Fee	Total Amount
1372909 LAKESHWAR KUMAR SAHU	R KUMAR SAHU	Male	B. Sc./Maths/III	Renewal	11	70	770	115	151	1630	2400
1370606 SUNITA DHIMAR	IMAR	Female	B. A./Arts/III	Renewal	1	85	935	0	1485	1485	2420
1369041 BALRAM KUMAR SAHU	MAR SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	115	1515	1630	2190
1366730 MAHESHWAR KUMAR	R KUMAR	Male	B. A./Arts/III	Renewal	8	70	560	115	1485	1600	2160
1360062 LAKHAN LAL SAHU	SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	115	1515	1630	₁₋₁₋₅ 2260
1356106 LATA BHARTDUWAJ	TDUWAJ	Female	B. A./Arts/III	Renewal	11	85	935	0	1485	1485	2420
1203873 MOTI RAM		Male ·	B. A./Arts/III	Renewal	8	70	560	115	1485	1600	2160
1270349 KUMARI NEHA	†A	Female	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1288431 TAMESHWAR KUMAR SAHU	KUMAR SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	115	1515	1630	2190
1288806 KAUTUKMANI SAHU	SAHU	Female	B. Com./Commerce/III	Renewa!	8	85	680	0	1485	1485	2165
1288821 BHANU RAM		Male ·	B. A./Arts/III	Renewal	8	70	560	115	1485	1600	2160
1329872 BHIMESHWARI SAHU	U SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1515	1515	2195
1330103 DEEPALI VERMA	MA	Female.	B. Sc./Science/III	Renewal	11	85	935	0	1515	1515	2450
1341072 SWETA SAHU		Female	B. Sc./Science/III	Renewal	11	85	935	0	1515	1515	2450
1352057 KANCHAN SAHU	吾	Female	B. A./Arts/III	Renewal	11	85	935	0	1485	1485	2420
1352750 DHALESHWARI VAISHNAV	I VAISHNAV	Female	B. A./Arts/III	Renewal	E	85	935	0	1485	1485	2420
1367865 SHIVCHARAN SAHU	SAHU	Male ·	B. Sc./Science/III	Renewal	п	70	770	115	1515	1630	2400
1374256 KUMARI MONIKA	, N	Eomala	B A /Arts/III	Renewal	=	28	935	0	1485	1485	2420

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature & Seal of Head of the Institution)

Date :

Place:

This Sanction is generated by Scholarstop Portal Printed on 1/15/2020

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/3/10/94502

Sanction Date: 15/01/2020

Applications Type: Renewal

2420	1485	1485	0	935	85	ı.	Renewal	B. A./Arts/III	Female -	1362155 FALIMA PATEL	
2450	1515	1515	0	935	85	11	Renewal	B. Sc./Science/III	Female '	1355482 TEMIN SAHU	H
2370	1600	1485	115	770	70	11	Renewal	B. A./Arts/III	Male.	1344917 LIKHAN RAM	1
2420	1485	1485	0	935	85	11	Renewal	B. A./Arts/III	Female .	1341902 SARASVATT SAHU	1
2420	1485	1485	0	935	85	1	Renewal	B. A./Arts/III	Female .	1331657 USHA SAHU	1
2400	1630	1515	115	770	70	ı	Renewal	B. Sc./Science/III	Male	1329901 Naresh Kumar Patel	 -
2420	1485	1485	. 0	935	85	E	Renewal	B. A./Arts/III	Female	1384434 DEEPIKA MANIKPURI	1
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female	1399054 MONIKA SAHU	l e
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female	1410447 PREMKUMARI VAISHNAV	1
2450	1515	1515	0	935	85	=	Renewal	B. Sc./Science/III	Female	1402528 MANISHA SAHU	_
2420	1485	1485	0	935	85	11	Renewal	B. A./Arts/III	Female	1412416 GULAB PATEL	-
2195	1515	1515	0	680	85	8	Renewal	B. Sc./Science/III	Female	1413576 MONIKA SINHA	1
2400	1630	1515	115	770	70	n	Renewal	B. Sc./Science/III	Male	1400837 RUPESH KUMAR SAHU	. 1
2090	1600	1485	115	490	70	7	Renewal	B. A./Arts/II	Male	1402150 TIKESHWAR SAHU	1
2370	1600	1485	115	770	70	1	Rènewal	B. A./Arts/III	Male	1409497 THAKUR DAS YADAV	1
2160	1600	1485	115	560	70	8	Renewal	B. Com./Commerce/III	Male.	1393472 MUKESH KUMAR	
2695	1485	148	0	1210	110	1	Renewal	M. A./Hindi/II	Female	1390558 KUMARI MAMTA SAHU	
2370	, 1600	1485	115	770	70	п	Renewal	B. A./Arts/III	Male	1383420 SANDIP KUMAR	
Total Amount	Total Fee	Other Fee	Tuition Fee	Allowance (Uitton Fee Other Fee Total Fee	Rate	No. of Month	Туре	Course	Gender	on an	Applicational

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in a above proposal from

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Signature & Seal of Head of the Institution)

विविधानिय-विविधा

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Applications Type: Renewal

Sanction Date:

15/01/2020

Sanction Number: R/9/1961/3/10/94502

State: Government of Chhattisgarh

Application ID Student Name				The Residence of the last of t	N. Contraction of the last of					
	Sender	Course	Type	No. of	Rate	Maintenence Tuition Fee Other Fee Total Fee Total Amount	Tuition Fee	Other Fee	Total Fee	Total Amount
1370591 MOHNISH KUMAR	Male,	B. A./Arts/III	Renewal		70	770	115	1495	1600	
1373278 HARDEV KUAMR	Male	B. A./Arts/III	Renewal	11	70	770	1	1495	1600	23/0
1380701 MOHIT KUMAR	Male	B. A./Arts/III	Renewal	20 1	70	560	115	146-1	1000	23/0
1383568 LUKESH KUMAR	Male.	B. A./Arts/III	Renewal	1 6	70	770		100	1000	0917
1382118 Chandrakala Batal	7	The second secon	Noncwal	7.7	70	770	27.7	C04.T	OUGT	2370
1302110 Clandrakala Patel	Female	B. A./Arts/III	Renewal	11	85	935	, 0	1485	1485	2420
13888/3 RAKESH SINHA	Male	B. Sc./Science/III	Renewal	11	70	770	115	1515	1630	2400
1413601 VIMAL KUMAR	Male,	B. A./Arts/III	Renewal	8	70	560	115	1485	1500	2160
1429552 PRIYANKA SAHU	Female	B. A./Arts/III	Renewal	8	85	680	0	1485	1485	2165
1444882 MANJU SAHU	Female ·	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1429043 PUNAM SAHU	Female .	B. A./Arts/III	Renewal	8	. 85	680	0	1485	1485	2165
1425095 TAMESHWARI SAHU	Female ·	B. Sc./Science/III	Renewal	1	85	935	0	1515	1515	2450
1482870 KUMARI HASEEMA	Female ·	B. Com./Commerce/II	Renewai	10	85	850	0	1485	1485	2335
1493957 HULSI SAHU	Female ·	B. Sc./Science/III	Renewal	11	85	935	0	1515	1515	2450
1495582 NUMESHKUMAR SAHU	Male	B. A./Arts/II	Renewal	10	70	700	, 115	1485	1600	2300
1497872 LOKESH KUMAR	Male .	B. Sc./Science/II	Renewal	10	70	700	115	1515	1630	2330
1499094 DALESHWARI SAHU	Female ,	B. Sc./Science/III	Renewal	11	85	935	0	1515	1515	2450
1495772 ANITA SAHU	Female ·	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335
1494310 DURGESHWARI SAHU	Female ,	B. A./Arts/II	Renewal	8	85	680	0	1485	1485	2165

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Fri..ed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts

Place : Date :

(Signature & Seal of Head of the Institution)

त्रिण्यानिस्त्रिक्ष

Category: OBC

Academic Year: 2019-20

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

State: Government of Chhattisgarh

Sanction Number: R/9/1961/3/10/94502

Sanction Date: 15/01/2020

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No, of	Rate	Maintenence Allowance	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1493067	1493067 BHUMIKA SAHU	Female .	B. Sc./Science/II	Renewal	10	85	850	0	1515	1515	2365
1488684	1488684 HITESHWARI PATEL	Female ,	B. Sc./Science/II	Renewal	10	85	850	0	1515	1515	2365
1476663	1476663 JITESH KUMAR SAHU	Male ·	B. A./Arts/II	Renewal	7	70	490	115	1485	, 1600	<u></u> 2090
1495088	1495088 KANTI SINHA	Female -	B. A./Arts/II	Renewal	10	85	850	0	148.	1485	2335
1557417	1557417 TAMESHWAR SAHU	Male ,	B. Sc./Maths/II	Renewal	10	70	700	. 115	, 1515	1630	~ 2330
155545	1555454 KULDEEP SAHU	Male .	B. Sc./Science/II	Renewal	10	70	700	115	1515	1630	2330
1554654	1554654 DHANESHWAR KUMAR	Male 、	B. A./Arts/III	Renewal	11	70	770	115	1485	1600	2370
1554389	1554389 PURUSHOTTAM NISHAD	Male .	B. A./Arts/II	Renewal	10	70	700	115	1485	1600	2300
1538528	1538528 JANIK SAHU	Male ·	B. A./Arts/II	Renewal	10	70	700	115	1485	1600	2300
153775	1537753 BHUPENDRA KUMAR	Male .	B. Sc./Science/III	Renewal	=	70	770	115	1515	1630	2400
1530118	1530118 YAMINI SAHU	Female .	B. A./Arts/II	Renewal	8	85	680	0	1485	1485	2165
1534020	1534020 GITESHWARI SAHU	Female ·	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335
152856	1528560 SANGEETA SEN	Female .	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335
153801	1538014 RAKESH KUMAR SAHU	Male.	B. Sc./Maths/II	Renewal	10	70	700	115	1515	1630	2330
151885	1518857 CHAMELI SAHU	Female	B. A./Arts/II	Renewal	10	85	850		1485	1485	2335
152255	1522550 SATI SAHU	Female .	B. Sc./Science/II	Renewal	8	85	680	g	1515	1515	. 2195
152849	1528492 BABITA SAHU	Female	B. A./Arts/II	Renewal	9	85	765	0	1485	1485	2250
149584	1495847 BABY SINHA	Female ·	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it in detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise disco. Linues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date: Place:

(Signature & Seal of Head of the Institution) Name (Capital हिंदुको स्वी हेर्ची

This Sanction is generaled by Scholaship Portal Finted on 1/15/2020

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI GOLLEGE CHIJURIA

Academic Year: 2019-20

State: Government of Chhattsgarh

Sanction Number: R/9/1961/3/10/94502

Sanction Date : 15/01/2020

Applications Type: Renewal

Application ID	Student Name	Gender	Course	- Type	Month of	Rata	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1426159 A	1426159 ANAS DAS SAHU	Male	B. Sc./Maths/III	Renewal	10	70	700	115	1515	1630	2330
1506537 PS	1506537 PRIYANKA SAHU	Female	B, Sc./Science/II	Renewal	9	85	765	0	1515	1515	- 2280
1525547 12	1526547 YAMINI SINHA	Female	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1524755 M	1524758 MONIKA SINHA	Female.	B. A./Arts/III	Renewal	8	85	680	0	148	1485	2165
1613422 LA	1613455 LALENDRA SAHU	Male .	B. A./Arts/III	Renewal	=	70	770	115	1485	1500	2370
1500302 0-	1500302 CHANDRESH SINHA	Male .	B. Com./Commerce/II	Renewal	10	70	700	115	1485	1600	2300
1288834	1588534 TOKESHWAR SAHU	Male .	B. Sc./Science/II	Renewal	10	70	700	115	1515	1630	2330
T205422 M	1588457 MUKESH KUMAR	Male .	B. A./Arts/III	Renewal	2	70	770	115	1485	1500	2370
JA 7623351	1588294 YOGESH KUMAR	Male .	B. Sc./Science/II	Renewal	10	70	700	115	1515	1630	2330
1585317 DJ	1585317 DAMINI SINHA	Female	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335
1567464 PE	1567464 PEMIN YADAV	Female .	B. A./Arts/II	Renewal	, 10	85	850	0	1485	1485	2335
1525247 Bt	1529247 BHUNESHWARI SAHU	Female ·	B. A./Arts/II	Renewal	9	85	765	0	1485	1485	2250
1506732 LEENA SINHA	BNA SINHA	Female .	B. Sc./Science/II	Renewal	9	85	765		. 1515	1515	2280
1408563 AARTI SAHU	RTI SAHU	Female	B. A./Arts/III	Renewal	11	85	935	0	1485	1485	2420
1384780 SH	1384780 SHOBHIT RAM	Male ,	B. Sc./Maths/III	Renewal	11	70	770	115	1515	1630	2400
1507011 74	1507011 TAMESHWARI SAHU	Female .	B. A./Arts/II	Renewal	10	85	850	0	1485	1485	2335
1544638 ИТ	1544638 UTTARA YADAV	Female	B. Sc./Science/II	Renewal	10	85	850	0	1515	1515	2365
1362265 KU	IHAS ATA IMI ON IN PACCASE	Esmala		Danamal	0	28	680	0	1485	1485	2165

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discordinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Page 6/11

This Sanction is general that States in Profes Righted on 1/15/2020

(Signature & Seal of Head of the Institution)

Name (निर्मान्येनि निर्मान्यो हेवी

Place : Date :

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20 Applications Type : Renewal

Sanction Number: R/9/1961/3/10/94502

State: Government of Chhattisgarh-

Sanction Date:

15/01/2020

. 7.7

1000											
2280	1515	1515	0	765	85	9	Renewal	B. Sc./Science/II	Female	1499298 SUGAM SAHU	1499298
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female '	1495585 ANITA SINHA	1495585
2370	1600	1485	~ 115	770	70	11	Renewal	B. A./Arts/III	Male .	1485933 TIKESHWAR NIRMALKAR	1485933
2420	1485	1485	0	935	85	11	Renewal	B. A./Arts/III	Female .	1437326 KUMARI PITESHWARI	1437326
2370	1600	1485	115	770	70	11	Renewal	B. A./Arts/III	Male .	1432046 SHEETAL PRASAD	1432046
2711	1611	1485	126	1100	100	11	Renewal	M. A./Hindi/II	Male	1428697 DAMESHVARDAS SAHU	1428697
2420	1485	1485	0	935	85	11	Renewal	B. A./Arts/III	Female ·	1426000 TOMIN SAHU	1426000
2160	1600	1485	115	560	70	8	Renewal	B. A./Arts/III	Male ·	1410890 TOKESHWAR SAHU	1410890
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female ·	1406309 TULESHWARI VERMA	1406309
2450	1515	1515	0	935	85	11	Renewal	B. Sc./Science/III	Female ·	1397116 Khushbu Sonkar	1397116
2450	1515	1515	0	935	85	11	Renewal	B. Sc./Science/III	Female ·	1382883 FALITA SAHU	1382883
2365	1515	1515	0	850	85	10	Renewal	B. Sc./Science/II	Female .	1490753 BHAGVATT SAHU	1490753
2400	1630	1515	115	770	70	11	Renewal	B. Sc./Science/III	Male ,	1424555 GOLU SAHU	1424555
2711	1611	148.	126	1000	100	11	Renewal	M. A./Hindi/II	Male	1400867 LALIT KUMAR SAHU	1400867
2450	1515	1514	0	935	85	11 25	Renewal	B. Sc./Science/III	Female.	1393756 LOKESHWARI SAHU	1393756
2370	1600	1485	115	770	70	1	Renewal	B. A./Arts/III	Malę	1382748 NILKANTH SAHU	1382748
2090	1600	1485	115	490	70	7	Renewal	B. A./Arts/II	Male	1381037 TIKESHWAR SAHU	1381037
2370	1600	1485	115	770	70	11	Renewal	B. A./Arts/III	Male	1370610 YAD RAM SAHU	1370610
Total Amount	Total Fee	and the same	Tuition Fee	Allowance Tultion Fee Other Fee	Rate	No. of	Туре	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is getected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place:

Date :

(Signature & Seal of Head of the Institution)

Namphenteller के कि

Category:

OBC

State: Government of Chhattisgarh.

Sanction Number: R/9/1961/3/10/94502

Sanction Date: 15/01/2020

Applications Type: Renewal

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

2019-20

										The second secon	
2090	1600	1485	115	490	70	7	Renewal	B. A./Arts/II	Male .	1628545 GHANSHYAM SAHU	162
2090	1600	1485	115	490	70	. 7	Renewal	B. A./Arts/II	Male ·	1627446 LUKESH KUMAR	162
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female	1586406 NISHA YADAW	158
2250	1485	1485	0	765	85	9	Renewal	B. A./Arts/II	Female	1585858 DURGALAXMI SAHU	158
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female	1585367 NAVITA SAHU	158
2400	. 1630	1515	115	770	70	, i	Renewal	B. Sc./Science/III	Male.	1579197 MOHAN SAHU	157
2330	1630	1515	115	700	70	101	Renewal	B. Sc./Science/II	Male,	1563345 SANDEEP PATEL	156
2365	1515	1515	0	850	85	10	Renewal	B. Sc./Science/II	Female	1563180 HEMLATA SAHU	156
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female	1560093 HILPHI SHINHA	156
2250	1485	1485	0	765	85	9	Renewal	B. A./Arts/II	Female	1527572 ANJANI PAL	152
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female	1526953 LIKESHWARI SAHU	1520
2195	1515	1515	0	680	85	8	Renewal	B. Sc./Science/II	Female	1521520 HOMIN PATEL	152:
2420	1485	1485	. 0	935	85	11	Renewal	B. A./Arts/III	Female	1520142 DHANESHWARI SAHU	1520
- 2335	, 1485	148.	-0	850	85	10	Renewal	B. A./Arts/II	Female	1520021 MAMTA SAHU	1520
2335	1485	1485	0	850	85	10	Renewal	B. A./Arts/II	Female	1519180 MAMTA SAHU	1519
2365	1515	1515	0	850	85	. 10	Renewal	B. Sc./Science/II	Female	1517083 LOMIN SAHU	1517
2300	1600	1485	115	700	70	10	Renewal	B. A./Arts/II	Male,	1516438 NARESH KUMAR	1516
2365	1515	1515	0	850	85	10	Renewal	B. Sc./Science/II	Female	1503411 DIVYA SAHU	1503
Total Amount		Other Fee Total Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Type	Course	Gender	Student Name	Application ID

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discortinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date:

(Signature & Seal of the Institution)

Category: 080

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/3/10/94502

Applications Type: Renevial Sanction Date: 15/01/2020

2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/II	Female	1670284 OMIN SINHA	16
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female .	1670077 RIKESHWARI SAHU	16
2370	1600	1485	115	770	70	11	Renewal	B. A./Arts/III	Male ·	1664420 DOMESH KUMAR PATEL	16
2080	. 1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female ,	1663726 BHARTI SAHU	16
2110	. 1515	1515	0	595	85	7	Renewal	B. Sc./Science/II	Female ,	1663335 SOMLATA SAHU	16
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female 、	1659870 DEV KUMARI	16
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female	1659596 HUMESHWARI SAHU	16
57 2110	1515	1515	0	595	85	7	Renewal	B. Sc./Science/II	Female	1648480 TRIPTI SAHU	16
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female	1647562 UMESHWARI SAHU	16
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/II	Female	1647151 PUSHPA SAHU	16
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female	1643945 YAMUNA YADAV	16
2190	1630	1515	115	560	70	8	Renewal	B. Sc./Maths/II	Male .	1643660 BHUPENDRA KUMAR	150
2165	1485	146	0	680	85	8	Renewal	B. A./Arts/III	Female	1643157 HITESHWARI SAHU	162
2080	1485	1485	0	595	85	7	Renewal	B. A./Arts/II	Female	1637974 KUMARI SONI	163
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/II	Female	1637685 MOHINEE SAHU	163
2160	1600	1485	115	560	70	8	Renewal	B. A./Arts/III	Male	1632566 TARA CHAND	163
2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female	1629117 ANJU SAHU	162
. 2165	1485	1485	0	680	85	8	Renewal	B. A./Arts/III	Female	1628989 SONKUNVAR SAHU	162
Total Amount	Total Fee	tion Fee Other Fee	Tuition Fee	Maintenence Tui Allowance	Rate	No. of Month	Type	Course	Gender	n ID Student Name	Application ID

Declaration :

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place:

Date :

(Signature & 医解析 Head of the Institution) शासः रिन्ते श्रिक्षेत्रा होती

Page 9/11

This Sanction ទៀម៉ូន៉ាមីកវីតែដើមប៉ុន្មិចក្រឡង(ស៊ូត្រែ) drai. Printed on 1/15/2020

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20 Applications Type: Renewal

Sanction Number: R/9/1961/3/10/94502 Sanction Date: 15/01/2020

State: Government of Chhattisgarh

Application ID	Student Name	Gender	Course	, Јуре ,	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount
					Money		AlloWalte	Constitution Section	Discovered the second		10000000000000000000000000000000000000
1671888	1671888 MAYA KUMBHKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1676560	1676560 YASHODA YADAV	Female .	B. A./Arts/II	Renewal	80	85	680	0	1485	1485	2165
1682377	1682377 DEVPRASAD SAHU	Male	B. Sc./Science/II	Renewal	8	70	560	115	1515	1630	2190
1682608	1682608 MAHENDRA KUMAR	Male	B. A./Arts/II	Renewal	7	70	490	115	1485	1600	2090
1684293	1684293 TOMESHWAR SAHU	Male .	B. A./Arts/II	Renewal	7	70	490	115	1485	1600	2090
1687083	1687083 SIMAN SAHII	Female	B. A./Arts/III	Renewal	8	85	680	0	148	1485	2165
1688629	1688629 KUMARI HOLIKA	Female	M. A./Hindi/II	Renewal	=	110	1210	0	1485	1485	. 2695
1689075	1689075 GEETA PATEL	Female	B. A./Arts/III	Renewal	8	85	680	0	1485	1485	2165
1689861	1689861 RAVINA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1515	1515	2195
1693486	1693486 PURNIMA SAHU	Female .	B. Sc./Science/II	Renewal	8	85	680	0.	1515	1515	2195
1704783	1704783 AJAY KUMAR	Male .	B. A./Arts/II	Renewal	8	70	560	115	1485	. 1600	2160
1705037	1705037 SAVITREE SAHU	Female ·	B. Com./Commerce/II	Renewal	8	85	680	0	1485	1485	2165
1707399	1707399 YOGRAJ SAHU	Male	B. A./Arts/II	Renewal	. 7	70	490	115	1485	1600	2090
1711374	1711374 NARBADIYA SAHU	Female	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1711412	1711412 KU GANGA	Female .	B. A./Arts/III	Renewal	8	85	680	. 0	1485	1485	2165
1718657	1718657 YOGITA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	1515	1515	2195
1718826	1718826 SHIVANI KUMBHEKAR	Female	B. A./Arts/II	Renewal	7	85	595	0	1485	1485	2080
1719849	1719849 JITESHWARI SAHU	Female .	B. Sc./Science/II	Renewal	7	85	595	0	1515	1515	2110

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

(Signature & Seal जिम्में ead of the Institution) Nan स्थापन के विद्यार होते हैं हैं।

क्रिअपुर-क्रावामा

Date : Place :

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/3/10/94502

Sanction Date: 15/01/2020

Applications Type: Renewal

415673	279858	271890	7968	135815	Total :					
2165	1485	1485	ő	680	85	8	Renewal	B. A./Arts/III	Female -	1725849 PAYAL SAHU
2165	1485	1485	0	680	85	œ	Renewal	B. Com./Commerce/II	Female ,	1721918 YOGTTA KUMBHAKAR
2090	1600	1485	. 115	490	70	7	Renewal	B. A./Arts/II	Male ,	1721066 KUSHAL RAM YADAV
Total Amount	TotalFee	Other Fee	Tuition Fee	Maintenence Allowance	Rate	No. of Month	Туре	Course	Gender	Application ID Student Name

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

Date:

(Signature & Seafford" ead of the Institution)
Name (capital Largor) 元句

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Applications Type: Fresh

Sanction Number: N. 3/1961/2/7/94501

State:

Greenment of Chhattisgarh

Sanction Date: 15/01/2020

4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male ·	1642196 AJAY KUMAR KUNJAM	1643
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female \	1642033 USHA KANWAR	1643
6615	1485	146.	0	5130	570	9	Fresh	B. A./Arts/I	Male,	1641247 MEGHNATH KUMBHRE	1641
4185	1485	148	0	2700	300	9	Fresh	B. A./Arts/I	Male .	1639154 DASVAN KUMAR	1639
4185	1485	1485	. 0	2700	300	9	Fresh	B. A./Arts/I	Male ,	1638708 BHOJ LAL	1638
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female •	1638447 BHARTI PURAM	1638
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female.	1638220 PINKI MANDAVI	1638
6645	1515	1515	0	5130	570	9	Fresh	B. Sc./Maths/I	Male .	1634933 RAVI KUMAR	1634
6615	1485	1485	0	5130	570	9	Fresh	B. A./Arts/I	Male	1632391 ROSHAN KUMAR	1632
6615	1485	1485	0	5130	570	9	Fresh	B. A./Arts/I	Male,	1628820 BIRENDRA KUMAR MANDAVI	16288
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	1557408 RITU MANDAVI	15574
3615	1515	1515	. 0	2100	300	7	Fresh	B. Sc./Science/I	Male,	1428724 BIRENDRA KUMAR KUNJAM	14287
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	1278043 KUMARI EVAN	12780
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	1251482 NEMA MANDAVI	12514
:5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Male	796513 DINESH KUMAR CHANDRWANSHI	7965
5725	1485	1485	0	4240	530	8	Fresh	M. A./Hindi/I	Female	742500 Gayatri Kanwar	7425
Total Amount	Total Fee	Other Fee	Tultion Fee	Allowance	Kale	Month	- The	Course	deline	amountaine at	Application as

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place:

Date :

This Sanction is generated by Scholarship Portal. Printed on 1/15/2020

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Sanction Number: N /1961/2/7/94501 Sanction Date: 15/01/2020

State:

Government of Chhattisgarh

		****					Applications T	ype: Fresh		
cation ID Student Name	Gender	Course	Type	No. of	Rate	Maintenence Allowance	Tuition Fee	ther Fee	Total Fee 1	otal Amount
1642472 NAGESHWARI CHANDRAWANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Tuition Fee Other Fee Total Fee Total Amount	Total Amou
1642472	1642472 NAGESHWARI CHANDRAWANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1642768	1642768 HEMPUSHPA CHANDRAWANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1642871	KAMNI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1643407	MURLI RAM	Male .	B. Sc./Maths/I	Fresh	9	570	5130	0	1515	1515	6645
1645733	1645733 RAMNATH KORRAM	Male ·	B. A./Arts/I	Fresh	9	570	5130	0	1485	1485	6615
1646380	1646380 MALESH KUMAR	Male ·	B. A./Arts/I	Fresh	9	300	. 2700	0	1485	1485	4185
1648681	1648681 DIVYABHARTI CHANDRAWANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1652888	1652888 PAWAN KUMAR	Male ·	B. Sc./Science/I	Fresh	9	300	2700	0	1515	1515	4215
1653456	1653456 BHAGCHAND KANWAR	Male .	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1654701	1654701 MOHNISH CHANDRAVANSHI	Male ,	B. Com./Commerce/I	Fresh	9	300	2700	0	1485	1485	4185
1654917	1654917 TOMAN LAL	Male .	B. Com./Commerce/I	Fresh	9	300	2700	0	1485	1485	4185
1657777	1657777 ASHWANI KUNJAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
165797	1657974 HIMANCHALL PADOTI	Female	B. A./Arts/I	Fresh	9	300	2700	0	148	1485	4185
165798	1657987 DAMYANTIN MANDAVI	Female.	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
165823	1658230 BHARTI KUNJAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
165846	1658461 BHAGWANTEEN KANWER	Female 、	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs.oùt of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period its detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date:



Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Government of Chhattisgarh

Sanction Number: NIBI196112/7184501

Sanction Date: 1' 31/2020

Academic Year: 2019-20							Applications	Applications Type: Fresh		
pplication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1659358 NIRESH KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1485	1485	4185
1660567 TIJIYA THAKUR	Female ,	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185
1664279 LILENDRA KANWAR	Male ·	B. A./Arts/I	Fresh	9	300	2700	0	1485	1485	4185

4185	1485	1485	0	0 2700	9 300		Fresh	B. Com./Commerce/I	Female v	1670114 TEEJKUVAR MANDAVI
4185	1485	1485	0	0 2700	9 300	9	Fresh	B. Com./Commerce/I	Female \	1641652 KAMINEE UIKE
~ 5 4185	1485	148-	0	0 2700	300	9	Fresh	B. A./Arts/I	Female 、	1676544 HINA CHANDRAVANHI
⇒ 3915	1515	1515	0	2400	300	8	Fresh	B. Sc./Science/I	Female ,	1671583 TINAMPAL MANDAVI
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female \	1671226 PUNESHWARI PADOTI
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1670333 KUMARI SHARDA
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male `	1669527 SANJAY KUMAR
4185	1485	1485) 0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1669525 RANI KANWAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1669459 CHANDRAKALA NETAM
3885	1485	1485	0	2400	300	8	Fresh	B. A./Arts/I	Male .	1669356 DIKESH NETAM
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Maths/I	Male-	1668867 THAMLESHWAR KANWAR
4185	1485	1485	0 - : - 0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1664693 KUMARI RUPESHWARI
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female \	1664427 ANUPA MARKAM
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male ·	1664423 KUSHAL KANWAR
4215	, 1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female 、	1664419 TOMIN KANWAR
4185	1485	1485) 0	2700	300	9	Fresh	B. A./Arts/I	Male ·	1664279 LILENDRA KANWAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1660567 TIJIYA THAKUR
4185	1485	1485	0	2700	300	9	Fresh	B. Com./Commerce/I	Male	1659358 NIRESH KUMAR
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee Allowance	Kate	No. of Month	Туре	Course	Gender	Application ID Student Name

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date: Place:

Page 3/7

Post Matric ST Scholarship

Academic Year: 2019-20

GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Sanction Number: N/9/1961/2/7/94501

Applications Type: F.sh Sanction Date: 15/01/2020

Institute Name :

4185	1485	1485	0	2/00	300	4	riesii	D. M./MIS/1	Leillaie ,	TOODSO TANESTWARE VAINWAR
121	100	1			200		Fund		English	TAMESCULATION TO THE TOTAL OCCIONAL
4215	15151	151	0	2700	300	9	Fresh	B. Sc./Science/I	Female 、	1685448 ANJU KORRAM
4185	1485	1485	.0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1684779 SONAM CHOUWRE
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female 、	1684468 GITANJALI CHANDRAVANSHI
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1684441 ANJALI KANWAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1684265 AMESHVREE TUMREKI
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female ,	1684247 FULESHWARI KUNJAM
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1684008 LAXMI KORRAM
4215	. 1515	1515	0	2700	300	9	Fresh	B. Sc./Maths/I	Male 、	1683413 DHANRAJ NIRMAL CHANDRAWANSHI
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female \	1678926 SHASHIKALA KANVAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ·	1678756 DIGESHWAREE KATLAM
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male ·	1678447 TILOCHAN KUMAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female .	1678482 PRIYANKA CHANDRAVANSHI
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Maths/I	Male	1678392 BHUVAN KUMAR
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female_	1678313 TIRATH TARAM
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male.	1677945 YUVRAJ MANDAVI
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female	1677761 SANTOSHI KANWAR
Total Amount	Total Fee		Tultion Fee	Maintenence Tuition Fee Other Fee	Kate	No. of Month	Туре	Collise	Gender	Appircation 10

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is delected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place:

This Sanction is generated by Scholarship Portal. Printed on 1/15/2020

Page 4/7

Category: ST

Institute Name : GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/1961/2/7/94501

Applications Type: Fresh Sanction Date: 15/01/2020

-											
4185	1485	148*	0	2700	300	9	Fresh	B. A./Arts/I	Male ,	1706223 DUSHYANT KUMAR	
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male	1705622 YOGESH KUMAR MANDLOI	
4215	. 1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male 、	1705139 PRATIK KUMAR	
4185	1485		0	2700	300	9	Fresh	B. A./Arts/I	Female	1704849 CHANDRIKA NETAM	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1704324 TAKESHWARI KANWAR	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female 、	1704151 SHIMLA KANWAR	
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male ,	1704062 PURUSHOTTAM NETAM	
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male	1700051 BHUNESH KUMAR DHRUW	
4215	. 1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male ,	1698476 TIRATH KANVAR	
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male ,	1695210 KAILASH SINGH	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1695093 TEEJAN GOND	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male .	1694663 PRAVESH KUMAR	,
4185	. 1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male ,	1693031 RADHESHYAM CHANDRAVANSHI	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male,	1692988 UMESH KUMAR	
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female ,	1690335 KU DEEPSHANTI	
4185	1485	1485	0	2700	300	9	Fresh	B. Com./Commerce/I	Female ,	1690136 DURGA SALAME	1
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male,	1687908 TOSHAN KUMAR	1
Total Amount	Total Fee Total Amount	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee	Rate	No. of Month	Туре	Course	Gender	ion ID Student Name	Application ID

Declaration :

Place:

Date:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discortinues the studies or accepts

Name (Oppifelt/Effers)

(Signature stal of the the Institution)

जला-राजनादमाव

Sanction Number: N/9/1961/2/7/94501

State

Government of Chhattisgarh

Sanction Date:

15/01/2020 ..

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Academic Year: 2019-20							Applications T	ilications Type: Fresh	3	
cation ID Student Name	Gender	Course	Тура	No. of Month	Rata	Maintenence Allowance	Tuition Fee 0	the Fed	Total Fee	Total Amount
1709239 GUNESHWARI THAKUR	Female .	B. Sc./Science/I	Fresh	9	300	2700	0	1515	1515	4215
				,	2	2700	,			

1485 4185 1485 4185 1485 4185 1485 4215 1485 4185 1485 4185 1485 4185	表			9						
	7		300 2700			Frach	, B. A./A/IS/1	Female	1697350 ANDALI KUMARI	16
34	201	0	300 2700	9 30		Frach	B. A./NIS/1	Female	1695180 LOKESHWARI GOND	16
	1485	0	00 2700	9 300		Fresh	or order		1693452 ANIL KUMAK	163
	1		00	9 300		Fresh	B Sc /Science/I	Malo .		
	1515	9		3		Fresh	B. A./Arts/I	Female ·	1697722 PURINIMA MANDAVI	156
	1485	C					B. A./Arts/1	Male	1689195 TIKENDRA KUMAR	168
	28.	0	2700	300	0	Floring	b. Comily Commics Cod +	Male ,	1688910 NANDU RAM	1683
	法	0	0 2700	300	9	Fresh	B Com /Commerce/I		900 MO P. WOLDER	עע
1485	148	0	0 2700	300	9	Fresh	B. A./Arts/I	Male ·	17:7950 NEHL KIMARI	17.7
400	1 6	c			9	Fresh	B. A./Arts/I	Female .	1715069 KOMIN KORRAM	1715
1185	155			300	9	Fresh	B. Sc./Science/I	Male .	1713529 SUNIL KUMAR	17138
	8	C		300	9	Fresh	B. A./Arts/I	Female	1713173 ROSHANI KANWAR	17131
	6	C		300	9	Fresh	B. A./Arts/I	Female ,	1712037 UMESHWARI POTA	17120
	1515	0		300	9	Fresh	B, Sc./Science/I	Female ·	1711975 UMESHWARI MANDAVI	17119
	1485	0		300	9	Fresh	B. A./Arts/I	Female ·	1711752 DOMIN MANDAVI	171175
	1485	0		300	9	Fresh	B. A./Arts/I	Male	1710570 VIKRAM KUMAR	171057
1485 5725	1485	0		530	8	Fresh	M. A./Hindi/I	Female	1709990 HASEENA KANWAR	170999
1485 4185	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female .	1709713 SOMIN MANDAVI	170971
1515 4215	1515	0 1	2700	300	9	Fresh	B. Sc./Science/I	Female ,	1709239 GUNESHWARI THAKUR	1709239
otal Fee Total Amount	ie Total	Tuition Fee Other F	Maintenence Allowance	Rate	No. of	Тура	Course	Gender	Student Name	Application ID

serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......or maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/supend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Cathled of the Institution)

Scholarung Wiell Printed on 1/15/2020

Sanction Number: N/9/1961/2/7/94501

15/01/2020

State: Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Academic Year: 2019-20

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA Applications Type: Fresh Sanction Date:

512655	174735	174735	0.	337920	Total :						
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female \ E	1740356 TAMESHWARI KUNJAM	1740356
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male 、 E	1729966 HULESH KUMAR	1729966
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male , E	1729638 CHANDRABHAN MANDAVI	1729638
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Male . E	1729706 KIRTAN KORRAM	1729706
3885	1485	1485	0	2400	300	8	Fresh	B. A./Arts/I	Male · E	1728209 CHUMMAN LAL KURSAM	1728209
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Female \ E	1726706 PARNIYA KUNJAM	1726706
3885	1485	1485	0	2400	300	8	Fresh	B. A./Arts/I	Male , E	1720368 HIRENDRA KUMAR	1720368
4185	1485	1485	0	2700	300	9	Fresh	B. A./Arts/I	Male · E	1720341 ISHWAR LAL	1720341
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female , E	1719917 TUMESHWARI KANWAR	1719917
4215	1515	1515	0	2700	300	9	Frésh	B. Sc./Science/I	Male . E	1719706 RAKESH KUMAR MANDAVI	1719706
, 4215	1515	1515	0		300	9	Fresh	B. Sc./Science/I	Female · E	1719480 ASHWANI UIKE	1719480
4215	1515	1515	0	2700	300	9	Fresh	B. Sc./Science/I	Female · E	1719067 REENA CHANDRAWANSHI	1719067
4215	1515	1515	0		300	9	Fresh	B. Sc./Science/I	Male . E	1704500 SAMRAJ GOND	1704500
4185	1485	1485	0		300	9	Fresh	B. A./Arts/I	Male , E	1703705 NARAD RAM	1703705
4215	1515	1515	0		300	9	Fresh	B. Sc./Science/I	Female E	1698911 PRITI CHANDRAWANSHI	1698911
	ingi ree		Julijon Fæe Goter Fæe	Maintenence Allowance	Rate	No. of Month	. <type ,<="" td=""><td>Course (**/)</td><td>Gender</td><td>Student Name</td><td>Application ID</td></type>	Course (**/)	Gender	Student Name	Application ID
Lear Marketine	ميدالقت ال										

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period/t in detected candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place :

Date :

Category: ST

Institute Name : GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattegath

Sanction Number: RJ91196112/1194434

Sanction Date : 15/01/2020

Applications Type: R-newal

1188884 CHUMENDRA KUMAR 1195815 SHIV KUMRI 1199292 HEMLATA KORRAM	1188884 CHUMENDR 1195815 SHIV KUMF	1188884 CHUMENDR		1171313 KISHAN KUMAR	963537 BHAGCHAND MANDAVI	871190 DINESHVARI MANDAVI	833058 KIRIAN RAM	5/0119 Rajesh Kumar	1534626 SAMENDRA KUMAR	1032/33 SHIVAM KUMAR	בייייייייייייייייייייייייייייייייייייי	1517070 DEEDAY MANDAYO	1489038 ARIIN KIIMAR	1493306 DINESH KIIMAR	1539970 CHUNESHWAR KUMAR	1517935 RAKESH KUMAR SALAME	1546396 AJAY KUMAR	Application ID Stu	
1204089 MIKESH KIIMAR	ORRAM	E E	A KUMAR	MAR	MANDAVI	I MANDAVI	3	nar	KUMAR	MAK	MUAVI	NDAVI	D	MAR	AR KUMAR	IAR SALAME	R	Student Name	
Male 、	Female	Female ·	Male \	Male	Male .	Female ,	Male ,	Male .	Male .	Male	Male .	Male ,	Malo ,	Malo	Male	Male .	Male,	Gender	
B. A./Arts/III	B. A./Arts/III	M. A./Hindi/II	B. A./Arts/III	B. A./Arts/III	B. Sc./Maths/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/II	B. A./Arts/II	b. A./Arts/II	D. A./MIS/II	D A /Atta/III	B A /Arts/II	B. A /Arts/II	B. A./Arts/II	Course	
Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Kenewal	Renewal	Donord	Donotina	Renewal	Туре	
8	11	11	8	8	11	8	8	8	11	7	11	11	11	,	- '	7	10	No. of Month	
300	300	530	300	300	300	300	300	300	300	300	300	300	300	300	300	000	300	Rate	
2400	3300	5830	2400	2400	3300	2400	2400	2400	3300	2100	3300	3300	3300	2100	2100	0.000	UUUE	Maintenence Tuition Fee Other Fee	
0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0			Tuition Fee	
1485	148	1485	1485	1485	1515	1485	1485	1485	1485	1485	1485	1485	1485	1485	1485	COPT	1405	Other Fee	
1485	1485	1485	1485	1485	1515	1485	1485	1485	1485	1485	1485	1485	1485	1485	1485	1485		Total Fee	
3885	4785	7315	3885	3885	4815	3885	3885	3885	4785	3585	4785	4785	4785	3585	3585	4485	The District of the last	Total Amount	

Declaration:

, any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periodit is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......s' maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Se आक्रामिट्व of the Institution) Na समिरिकामी प्रमुख्या हैती

महाविद्यालय-पुरिवा

Page 1/8

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20 Applications Type: R_newal

Sanction Number: Sanction Date :

R/9/1961/2/7/94484 Government of Chhattisgarh

15/01/2020

State :

Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Maintenence Tuition Fee Other Fee Total Fee Total Amount
1210047	1210047 MEENA CHANDRAWANSHI	Female	M. A./Hindi/II	Renewal	11	530	5830	0	1485	1485	7315
1260742	1260742 TUMMAN LAL	Male ,	B. A./Arts/III	Renewal	8	300	2400	0	1485	1485	3885
1266836	1266836 MURARI RAM	Male .	B. Com./Commerce/III	Renewal	8	300	2400	0	1485	1485	3885
1281544	1281544 TARACHAND MANDAVI	Male .	B. A./Arts/III	Renewal	11	300	3300	0	1485	1485	4785
1291607	1291607 GIRIJA KANWAR	Female .	B. A./Arts/III	Renewal	8	300	2400	0	1485	1485	3885
1297196	1297196 DEV KUMAR	Male \	B. A./Arts/III	Renewal	88	300	2400	0	1485	1485	3885
1299449	1299449 INDAL KUMAR	Male	B. A./Arts/II	Renewal	7	300	2100	. 0	1485	1485	3585
1303207	1303207 RAKESH KUMAR KORRAM	Male .	B. A./Arts/III	Renewal	8	300	2400	0	1485	1485	3885
1327844	1327844 SEEMA KANWAR	Female ,	B. Sc./Science/III	Renewal	=	300	3300	0	1515	1515	4815
1333891	1333891 REWA RAM MANDAVI	Male ,	B. A./Arts/III	Renewal	=	300	3300	0	1485	1485	4785
1337941	1337941 DUBENDRA KUMAR	Male	B. A./Arts/III	Renewal	1	300	3300	0	1485	1485	4785
1344587	1344587 ANJALI SONG	Female 、	B. Sc./Science/III	Renewal	=	300	3300	0	1515	1515	4815
1339399	1339399 IMLA KOMRE	Female .	B. A./Arts/III	Renewal	11	300	3300	. 0	1485	1485	4785
1351950	1351950 KAMLESH KUMAR KORRAM	Male ,	B. A./Arts/III	Renewal	8	570	4560	0	1485	1485	6045
135207	1352074 SANDHYA MANDLOI	Female	B. Sc./Science/III	Renewal	=	300	3300	0	1515	1515	4815
135252	1352521 AAMINI KANWAR	Female ,	B. A./Arts/III	Renewal	=	300	3300	0	1485	1485	4785
135282	1352824 TIJAN MANDAVI	Female ,	B. A./Arts/II	Renewal	7	300	2100	0	148.	1485	3585
135624	1356244 NEERAJ GAVARE	Female	B. A./Arts/III	Renewal	=	300	3300	0	1485	1485	4785

Declaration:

serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place:

(Signature & Stall di Head of the Institution)

वहावियानय-वृद्धिया

This Sanction is generaled by Schoolars Ep Potal. Printed on 1/15/2020

Page 2/8

Sanction Number: RJ9/1961/2/7/94484

Government of Chhattisgarh

Sanction Date:

15/01/2020

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Type	Type No. of Allowance Tultton Type No. of Allowance Tultton Type Total Team Team Total Team Team Total Team Team Total Team T	305		-				**	Kenewal	N A Jindi/II	-		
Course Student Name Course Type No. of No. of	Academic Years: 2019-20 Type Yo. of Kate Maintenence Tulton Foe Other Fee Total Anno Total	(10)	1485	1485	0	5830	530	=		Constitution and and	1	MANISH NETAM	1374723
	Academic Pears: 2019-20 Course Type No. of Student Name Course Type No. of Student Name Course Type No. of Allowance Course Type No. of Allowance Course Type No. of Allowance Course	7315	-	1 100	c	3300	300	11	Renewal	B. A./Arts/III	-		13/200
Course Type No. of No.	Academic Year : 2019-20 Course Type No. of Maintenence Tuition Fee Other Fee Total Amount Type No. of Maintenence Tuition Fee Other Fee Total Amount Total Amount No. of Maintenence Tuition Fee Other Fee Total Amount No. of No. o	478	1485	1485	0	300		:	Kellewal	B. Sc./Science/III	•	BOOTA CHANDRAWANSHI	1272002
Course Type Maintenence Tuiton Fee Other Fee Total Fee Other Fee Total Amount Total Fee Other	Academic Year 2019-20 Course Type No. of Allowance Type Month Maintenence Maintene	481	1515	1515	0	3300	300	=	Popula	B. A./AIIS/111		SATI CHANDRAWANSHI	1373284
Course C	Academic Year : 2019-20 Course Type No. of Month Maintenence Tuition Fee Other Fee Total Amounth Total Fee Total Amounth Total Fee Total		COLT	1485	C	3300	300	1	Renewal	D & /A+C/III	1	DAMINI CINNORMAN	13/4591
Academic Year : 2019-20 Type No. of Student Name Tuition Fee Other Fee Total Fee Total Amount	Academic Year 2019-20 Type No. of Rate Maintenence Tulton Fee Other Fee Total Fee	47	1485	307			000	,	Kenewal	B. A./Arts/II	2.4	DAMINIT CHANDRAWANSHI	1274501
Academic Year: 2019-20 Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feet Total Fee Total Amonth Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Fee Total Fee Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Amonth Total Fee Total Amonth Total Amonth Total Fee Total Amonth Total Fee Total Amonth Total Amonth Total Fee Total Amonth Total Amonth Total Amonth T	Academic Year 2019-20 Course Type No. or Rate Maintenence Tulton Fee Other Fee O	35	1485	1485	0	2100	300	7				CHANDRAWANSHI	13/2430
Academic Year: 2019-20 Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Fee Total Amount Total Amount Total Fee	Academic Year: 2019-20 Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Amount Amount Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Fee Total Amount Amount GEMIN MANDAVI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 DOMESHWAR MANDAVI Male B. A./Arts/III Renewal 11 300 3300 0 1485 1485 LAXMI KANWAR Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485 ANJANI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 ANJANI CHANDRAWANSHI Female B. A./Arts/III Renewal 8 300 2400 0 1485 1485 ANJANI CHANDRAWANSHI Female B. A./Arts/III Renewal 8					,,,,,	300	1	Renewal	B. A./Arts/III	Female	DAVECHMARI	000000
Academic Year : 2019-20 Type No. of Maintenence Tultion Fee Other Fee Total Amounth Total Ifee Total Amounth Total Amounth	Academic Year 2019-20 Type No. of Student Name Gender Course Type Type Month	4	1485	1485	0	UUEE	300	: :	Kellewal	B. A./Arts/III	Female 、	GULAPA UIKE	1372063
Academic Year: 2019-20 Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Allowance Other Fee Total Amonth Total Fee Total Amonth GEMIN MANDAVI Female Semale Sema	Academic Year : 2019-20 Type No. of Rate Maintenence Tuiton Fee Other Fee Total Amore Course Type No. of Maintenence Tuiton Fee Other Fee Total Amore To	4	1485	1485	0	3300	300	=		D. 7:/7:0/111		HEMLATA UIKE	1371807
Academic Year: 2019-20 Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amonth Amonth Student Name Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amonth Amonth GEMIN MANDAVI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 DAMINI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485 LAXMI KANWAR Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 ANIANI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485	Academic Year: 2019-20 Type No. of Maintenence Allowance Maintenence Allowance Total Fee Total Amore Allowance Total Fee Total Amore Allowance Total Fee Total Fee Total Fee Total Fee Total Fee Total Fee Total Amore Allowance Total Amore Allowance Total Amore Allowance Total Amore Allowance Total Fee Total Amore Allowance Total Amore Allowance<		100	1485	0	2400	300	8	Renewal	B \ /\dec/III		Control Control	100/1/01
Academic Year: 2019-20 Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amonth Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Amonth GEMIN MANDAVI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 DAMINI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485 LAXMI KANWAR Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485	Academic Year: 2019-20 Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Amo Student Name Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amo GEMIN MANDAVI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485 DAMINI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485 LAXMI KANWAR Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485		1000			-100	000	a	Renewal	B. A./Arts/III	Female .	ANIANI CHANDRAWANSHI	1371708
Academic Year: 2019-20 Gender Course Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Amonth GEMIN MANDAVI Female B. A./Arts/III Renewal 11 300 2400 0 1485 1485 DOMESHWAR MANDAVI Male B. A./Arts/III Renewal 11 300 3300 0 1485 1485 DAMINI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485	Academic Year: 2019-20 Type Type No. of Month Rate Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amonth Student Name Female B. A./Arts/III Renewal 8 300 2400 0 1485 1485 DOMESHWAR MANDAVI Male B. A./Arts/III Renewal 11 300 3300 0 1485 1485 DAMINI CHANDRAWANSHI Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485	3	1485	1485	. 0	2400	200	0	NCINCTON	B. A./AIG/III	Female ,	LAXMI KANWAR	1363361
Academic Year: 2019-20 Student Name Gender Gender Gender Type Month Allowance Allowance Other Feer Total Amo Month Allowance Other Feer Allowance Other Feer Total Amo Month Allowance Other Feer Allowance Other Feer Total Amo Month Allowance Other Feer Allowance Other Feer Total Amo Month Allowance Other Feer Total Amo Month Allowance Other Feer Total Amo	Academic Year: 2019-20 Course Type No. of Maintenence Maintenence Tuition Fee Other Fee Total Amo Maintenence Maintenence Tuition Fee Other Fee Total Amo Maintenence Maintenence Maintenence Tuition Fee Other Fee Total Amo Maintenence Maintenence Maintenence Tuition Fee Maintenence Tuition Fee Maintenence Tuition Fee Total Amo Maintenence Maintenence Tuition Fee Maintenence Maintenence Tuition Fee Maintenence Tuition Fee Maintenence Tuition Fee Maintenence Tuition Fee Total Amo Maintenence Maintenence Maintenence Tuition Fee Maintenence Tuition Fee Total Amo Maintenence Maintenence Maintenence Tuition Fee Maintenence Tuition Fee Maintenence Tuition Fee Total Amo Maintenence Maintenence Tuition Fee Total Amo Maintenence Maintenence Maintenence Tuition Fee Total Amo Maintenence Mai		COPT	1485	0	3300	300	11	Penewal	n (Ada/III	-		100101
Academic Year: 2019-20 Type No. of Month Rate Month Maintenence Allowance Tuition Fee Other Feer Total Fee Total Amonth Student Name Gender B. A./Arts/III Renewal 8 300 2400 0 1485 1485 GEMIN MANDAVI Male B. A./Arts/III Renewal 11 300 3300 0 1485 1485	Academic Year: 2019-20 Course Type No. of Maintenence Maintenence Tuition Fee Other Fee Total Amount Total Amount Female B. A./Arts/III Renewal 11 300 3300 0 1485 1485	4	2000	107			000	11	Renewal	B. A./Arts/III	Female ·	DAMINI CHANDRAWANSHI	1362431
Academic Year: 2019-20 Student Name Gender	Academic Year: 2019-20 Course Type No. of Maintenence Month				0	3300	300	:	-	5. A/A S/III	Male,	DOMESHWAR MANUAVI	1358673
Academic Year: 2019-20 Student Name Gender GEMIN MANDAVI Female GEAL Course Type No. of Maintenence Allowance Month Allowance Allowance Allowance Tuition Fee Other Fee Total Amo Allowance 0 1485 1485	Academic Year: 2019-20 Academic Year: 2019-20 Student Name Gender		COPT	1485	0	3300	300	11	Renewal	B A /Arts/III	Mala		1000
Academic Year: 2019-20 Student Name Gender Course Type No. of Rate Maintenence Tuition Fee Other Fee Total Amo Allowance 1485	Academic Year: 2019-20 Academic Year: 2019-20 Student Name Gender Course Type No. of Rate Maintenence Tuition Fee Other Fee Allowance Applications Type: R rewal Total Fee Total Amo		3071			0017	300	œ	Renewal	B. A./Arts/III	Female	GEMIN MANDAVI	1356416
Academic Year: 2019-20 Academic Year: 2019-20 Student Name Gender Course Type No. of Rate Allowance Allowance Course Allowance	Academic Year: 2019-20 Academic Year: 2019-20 Student Name Gender Course Type No. of Rate Allowance Allowance Applications Type: Rate Applications Type: Rate Applications Type: Rate Allowance Allowance		1485	1485	0	2400	900	100	September 1			一年 一日 一日 一日 一日 日 日 日 日 日 日 日 日 日 日 日 日 日	
	Applications Type: R' rewal				Tulidon Fee	-	Rate	No. of	Туре	Course	Gender	Student Name	Application ID
		7			l / l	400						Academic Year: 2019-20	

1399583 DILESHWARI PADOTI

1399479 JAGESHWARI PADOTI

Female Female \

B. A./Arts/III B. A./Arts/III B. A./Arts/III B. A./Arts/III M. A./Hindi/II

Renewal

1393282 MITESHWARI KANWAR

1383871 KUMARI AARTI

Female Female

Renewal

Renewal

Renewal Renewal

= 11 = Ξ

3300 3300 3300

0

1485

·· 4785 4785 4785

4785

148 1485 1485

1485 1485 1485 1485

300 300 300 300 530

1392140 KUMARI GEETA

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

This Sanction is generaled by Schold In profits) Printed on 1/15/2020

Date : Place:

overnment of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: RJ9/1961/2/7/94484

Sanction Date: 15/01/2020
Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Tuition Fee Other Fee Total Fee Total Amount
1400750	1400750 TOSHIN MANDAVI	Female .	B. A./Arts/II	Renewal	7	300	2100	0	1485	1485	3585
1412714	1412714 JITENDRA KUMAR	Male ,	B. Sc./Science/III	Renewal	11	300	3300	0	1515	1515	4815
1403395	1403395 MANGTIN KANWAR	Female	M. A./Hindi/II	Renewal	=	530	5830	0	1485	1485	7315
1485891	1485891 REENA UIKE	Female ,	B. A./Arts/III	Renewal	11	300	3300	0	1485	1485	4785
1490970	1490970 NAMITA NETAM	Female ·	B. A./Arts/II	Renewal	10	300	3000	0	1485	1485	4485
1403615	1403615 TAMESHWARI KANWAR	Female ·	B. A./Arts/III	Renewal	11	300	3300	0	1485	1485	4785
1493376	1493376 KHEMESHWARI SEVTA	Female .	B. A./Arts/II	Renewal	10	300	3000	0	1485	1485	4485
1486620	1486620 VASHAN KANVER	Female .	B. A./Arts/II	Renewal	10	300	3000	0	1485	1485	4485
150348	1503481 UMESH KUMAR NETAM	Male .	B. A./Arts/III	Renewal	=	300	3300	0	1485	1485	4785
140371	1403718 UMESHWARI CHANDRAWANSHI	Female ·	B. A./Arts/III	Renewal	n	300	3300	0	1485	1485	4785
150733	1507332 POOJA CHANDRAWANSHI	Female .	B. A./Arts/II	Renewal	ш	300	3300	0	1485	1485	4785
140971	1409713 JEETENDRA KUMAR	Male	B. Sc./Science/III	Renewal	11	300	3300	0	1515	1515	4815
151982	1519825 TULESHWARI KANWAR	Female ·	B. A./Arts/II	Renowal	11	300	3300	0	1485	1485	4785
141298	1412986 RAKESHWARI KAWAR	Female .	B. A./Arts/III	Reneval	=	300	3300	0	1485	1485	4785
153114	1531141 GULAPIYA MANDAVI	Female ,	B. A./Arts/II	Renewal	7	300	2100	0	1485	1485	3585
152926	1529269 MUNENDRA MANDAVI	Male	B. A./Arts/II	Reneval	11	300	3300	0	1485	1485	4785
152777	1527770 LOMESHWARI KANWAR	Female '	B. A./Arts/L	Renewal	=	300	3300	0	148	1485	4785

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Page 4/8

मा (त्राप्ता) के प्राप्ता है। जिल्ला के प्राप्ता के प्राप्ता के प्राप्ता के प्राप्ता के प्राप्ता के प्राप्ता क

•

Place : Date :

)

This Sanction is generated by Scholarship Pontal. Printed on 1/15/2020

Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Applications Type: Renewal

Sanction Number:

R/9/1961/2/7/94484

State:

Government of Chhattisgarh

Sanction Date: 15/01/2020

4785	1485	1485	0	3300	300	. 11	Renewal	B. A./Arts/II	Female 、	1502617 NAGIN KANWAR	1502617
4785	1485	148	0	3300	300	11	Renewal	B. A./Arts/II	Female .	1502142 ARUNA BHUARYA	1502141
3885	1485	1485	0	2400	300	8	Renewal	B. A./Arts/II	Male	1501961 LOKESH KUMAR	150196
4485	. 1485	1485	0	3000	300	10	Renewal	B. A./Arts/II	Female •	1494798 RALIKA KANVER	149479
4785	1485	. 1485	0	3300	300	11	Renewal	B. Com./Commerce/II	Female \	1486184 PRIYANKA KANWAR	148618
4785	1485	1485	0.	3300	300	11	Renèwal	B. A./Arts/III	Male	1437825 HIRA LAL	143782
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Female ·	1436062 ageshwari mandavi	1436062
3915	1515	1515	0	2400	300	8	Renewal	B. Sc./Maths/II	Female ·	1429819 MONIKA THAKUR	1429819
4815	1515	1515	0	3300	300	11	Renewal	B. Sc./Science/III	Female _	1427868 DIPIKA UIKE	1427868
3885	1485	1485	0	2400	300	8	Renewal	B. A./Arts/III	Male .	1426478 BHUPENDRA KUNJAM	1426478
3585	1485	1485	0	2100	300	7	Renewal	B. A./Arts/II	Female v	1425402 KAVITA KODAPPA	1425402
4785	1485	1485	0	3300	300	ш	Renewal	B. A./Arts/II	Female \	1509472 KARINA KANVER	1509472
4815	1515	1515	0	3300	300	11	Renewal	B. Sc./Science/III	Male ·	1424083 ASHAWANT KUMAR	1424083
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/II	Female .	1511349 GAURI CHANDRAWANSHI	1511349
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/II	Female ,	1525578 BHUPESHWARI KANWAR	1525578
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Female ,	1422612 ROSHANI MANDAVI	1422612
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/III	Male	1412996 KISHOR KUMAR	1412996
4785	1485	1485	0	3300	300	11	Renewal	B. A./Arts/II	Male ,	1527506 VIJAY KUMAR	1527506
Total Amount	Total Fee	Other Fee	Tuition Fee	Maintenence Tuition Fee Other Fee	Rate	No. of Month	Туре	Course	Gender	Student Name	Application ID

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date : Place:

(Signature & Selligit Bead of the Institution) Name (Candi) खुर्लपुरेवी तेती

ः अधिकारम् प्रिया



Page 5/8



Category:

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/2/7/94484

Applications Type: Renewal Sanction Date: 15/01/2020

Application ID	Children No.	The second second second						Applications Type	ype.	Circusti	2 1 2 2 2
A SERVICE OF THE PROPERTY OF T	Statementallie	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee Other Fee	Other Fe	Total fee	Total Amount
1502635	1502635 YASVANT TUMREKI	Male	B. A./Arts/II	Denound	Month		Allowance				
1507027	1507027 RUKHAMANI CHANDRAWANSHI	Female ,	B. A./Arts/II	Renewal	11	300	3300	0 0	148,	1485 5 . 1485	85 3885 85 4785
1507722	1507722 NARESHIYA PANDRO	Female .	B. A./Arts/II	Renewal	-	300	200		146	1495	85 4785
1509561	1509561 GULESHWARI KANWAR	Female	B. A./Arts/II	Renewal	= :	300	2200	D C	1495		
1510339	1510339 MAHENDRA KUMAR	Male	B. A./Arts/III	Renewal	= :	300	2000	5 6	170		
1518411	1518411 DINESHWART MANDAVI	Eamala	D \ /\-/	,	11	000	0000	0	COLT		
1010111	CHEDITARY PRINCANT	remale .	B. A./Arts/II	Renewal	00	300	2400	0	1485	5 1485	85 3885
1519664	1519664 SHASHIKALA KANVAR	Female ,	B. A./Arts/III	Renewal	8	300	2400	0	1485	1485	85 3885
1520981	1520981 AMRIKA CHANDRAWANSHI	Female ,	B. A./Arts/II	Renewal	11	300	3300	0	1485	1485	85 4785
1533087	1533087 MANJU UIKE	Female 、	B. A./Arts/II	Renewal	11	300	3300	0	1485		85 4785
1535773	1535773 CHAMELI KUMARI	Female \	B. A./Arts/II	Renewal	11	300	3300	0	1485	1485	85 4785
1537492	1537492 TILAK KUMAR	Male .	B. Sc./Maths/II	Renewai	11	300	3300	0	1515	5 · 1515	15 4815
1539412	1539412 PURNIMA MANDAVI	Female	M. A./Hindi/II	Renewal	11	530	5830	0	1485	1485	85 7315
1544992	1544992 SILOCHAN MANDAVI	Male ,	B. A./Arts/II	Renewal	11	300	3300	0	1485	1485	85 4785
1546142	1546142 MANISHA NETAM	Female 、	B. A./Arts/II	Renewal	E	300	3300	0	1485	1485	85 4785
1549410	1549410 BARKHA KUNJAM	Female 、	B. A./Arts/II	Renewal	ı.	300	3300	0	1485	35 1485	85 4785
1549717	1549717 FAGANI NETAM	Female 、	B. A./Arts/II	Renewal	11	300	3300	0	1485	35 1485	85 4785
1555638	1555638 PRADEEP KUMAR	Male ,	B. A./Arts/II	Renewal	π	300	3300	0	1485	35 1485	85 4785

Declaration:

candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the periog it is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Date : Place:

Page 6/8

Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: R/9/1961/2/7/94484

Sanctio
n Date :
15/01/2020

		1000年の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の						Applications (3po	Jpo.		
	omach Mallie	Gender	Course	Type	No. of	Rate	Maintenence	Tuition Fee Other Fee	Other Fee	Total Fee	Total Amount
1556337	1556337 DAMIN KANWER	Female	B. A./Arts/II	Renewal	- Founda					1 100	4785
1562862	1562862 KHEM LAL KAPURDEHRIYA	Male	B. Sc./Science/II	Renewal	1 1	300	3300	0	1485	1515	4815
1567923	1567923 VARSHA UIKE	Female ·	B. Sc./Science/II	Renewal	= :	200	3300	0 0	1717	1515	4815
1575624	1575624 TRAMIN CHANDRAVANSHI	Female	R A /Art-/III			200	3300	0	CTCT	1010	
	1440	I citiaic (D. A./A(S/11	Kenewal	п	300	3300		1485	1485	4785
15//283	15//283 TARA KANWER	Female ·	B. A./Arts/II	Renewal	11	300	3300	0	1485	1485	4785
1577628	1577628 MANOJ KUMAR MANDAVI	Male	M. A./Hindi/II	Renewal	11	530	5830	0	1485	1485	7315
1579027	1579027 BEER SINGH	Male .	B. A./Arts/III	Renewal	11	300	3300	0	1485	1485	4785
1585260	1585260 GODAWARI CHANDRAVANSHI	Female \	B. A./Arts/II	Renewal	1	300	3300	0	1485	1485	4785
1585877	1585877 KUMARI GAURI	Female v	B. A./Arts/II	Renewal	=	300	3300	0	1485	1485	4785
1585972	1585972 KAVITA NETAM	Female \	B. A./Arts/II	Renewal	80	300	2400	0	1485	1485	3885
1586591	1586591 BHAGYASHRI CHANDRAVANSHI	Female '	B. A./Arts/II	Renewai	=	300	3300	0	1485	1485	4785
1592683	1592683 JYOTI MANDAVI	Female 、	B. A./Arts/II	Renewal	10	300	3000	0	1485	1485	4485
1633125	1633125 KHILAVAN KANWAR	Male .	B. A./Arts/II	Renewal	7	300	2100	0	1485	1485	3585
1638104	1638104 TARACHAND KANWAR	Male .	B. Com./Commerce/II	Renewal	œ	300	2400	0	1485	1485	3885
1638650	1638650 YAMITA UYKE	Female `	B. A./Arts/III	Renewal	8	300	2400	0	1485	1485	3885
1640143	1640143 KDAMESH CHANDRAWANSHI	Female `	B. A./Arts/II	Renewal	7	300	2100	0	1485	1485	3585
1641907	1641907 MUNESH KUMAR	Male \	B. A./Arts/II	Renewal	7	300	2100	0	1485	1485	3585

Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place : Date :

(Signature & Seaj मिर्मिक्ट के Line Institution) Name (Capita) मिर्मिक्टीमी देवी



Government of Chhattisgarh Sanction Register for Scholarship

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT.RANI SURYAMUKHI DEVI COLLEGE CHHURIA

Academic Year: 2019-20

Sanction Date: 15/01/2020

Sanction Number:

R/9/1961/2/7/94484

State:

Government of Chhattisgarh

Applications Type: Renewal

		172	171	1711	1700	170	168	168	10/01	100	15	167	165	165	1	100	
		1721174 KU PADMA	1716985 DHARMIN KANWAR	1718508 OMLAL KANWAR	1706130 YOGESH KUMAR	1701371 RANU CHANDRVANSHI	1684/2/ KUMARI DAKESHWARI	1682220 TALESHWAR KUMAR	10/8029 DILESHWAR KUMAR	1620000 THE CHANDRAWANSHI	1575773 AARTH CHARLES KUMAR	CHANDRAWANSHI	1655638 KUMESHWART	1654174 TEJESHWARI GOND	1646882 PRITAM LAL MANDAVI	TO 12013 NOTICSHWARL KANWAR	2673 KOMECHNIADI KANAMA
		Female 、	Female \	Male	Male 、	Female ,	Female '	Male	Male	Female	Male .	, cilidie	Formal	Female .	Male .	Female ,	
e e		B. A./Arts/II	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	B. A./Arts/III	B. A./Arts/II	D. A./AICS/III	0 ^ /^-/	B. A./Arts/III	B. A./Arts/II	
		Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	Renewal	verewdi	Daniel	Renewal	ΙУρε
		7	7	8	7	8	11	11	8	11	8	E	8	0		7	No. of
	Total :	300	300	300	300	300	300	300	300	300	300	300	300	300	000	200	Rate
	414840	2100	2100	2400	2100	2400	3300	3300	2400	3300	2400	3300	2400	2400	2100	2100	Maintenence
							0 0	0	0	0	0	0	0			0	Tuition Fee
	0 200865	0 1485	0 1485	0 1485	0 1485	0 1485	1485	1485	1485	1485	1485	1485	1485	CO4.T		148,	Other Fee
	200865	35 1485	1485	1485	5 1485	5 1485	5 1485	5 1485	5 1485	5 1485	1485	1485	1485	COLT		1485	Total Fee
	615705	3585	3585	3885	3585	3885	4785	4785	3885	4785	3885	4785	3885	2002	200	3585	Total Amount

Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the perjodyt is detected. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from

Place: Date:

(Signature & अभिर्ध Head of the Institution) Nम्प्रसार्विकानिर्धासम्बद्धाः प्राची

महाविद्यालय-पुरस



कार्यालय - प्राचार्य, शासकीय रानी सूर्यमुखी देवी महाविद्यालय छुरिया जिला - राजनांद्रगांव (छ.ग.)

Email ID - chhuriacollege@gmail.com Phone&Fax - 07745 - 264273

कमांक / / जी.सी. / छा.वृ.प्र. / 2019

छुरिया, दिनांक / /2019

<u>//प्रमाण - पत्र//</u>

> प्रावार्च सारा सन्द्रिमीर्च मुखी देवी महावितालय-पुरिया जिला-सजगांदगांच (छ.म.)

प्रमाणित किया जाता है कि उपरोक्त सभी जानकारी सही है एवं सभी विद्यार्थियों का वैंक खाता कमांक आधार से लिंक किया गया है।

	-	
Ku. Kiran Gautam	2	Name of Student
Shri Ashok kumar Guwam	3	Father's Nanue
4	Ł	Gender (M/F)
GEN	S	Gender Calegory (M/F) (UR/SC/S T/OBC)
M.A. Prev.	6	Class
ARTS	7	Faculty
16.08.2619	8	Date of Admission
4500/-	ō	Proposed Budget
35706185162	10	Bank Account No
STATE BANK OF INDIA CHHURIA	11	Nanve of Bank and Branch
SBIN0003757	12	IFSC Code
871801465681 6261866910	13	Aadhar Numbar
6261866910	Ξ	Mobile No
	15	whether Aadhar No of the student has been linked to the Bank Account (Y/N)

prind

ग्रहाँनैयान्तव का नाम – शासकीय रानी सूर्यमुखी देवी महाविद्यालय छुरिया जिला राजनांद्रगांव 8 No Name of Student Futher's Name তনীমান্ত रাज्य के शासनीय महाविद्यालयों भे अध्ययनरत छात्र/ णानाओं के लिए बी.पी.एत. छात्रवृत्ति सत्र 2019-20 का प्रस्ताव তান্তবৃত্তি কা प्रकार – পথীন (সনাকে)

Gender Caregory Class Faculty Date of Promoted I Promoted I

Fither's Name

	L	10 23
SHRI BHOLA RAM	د	
z	4	(NVF)
OBC	5	(MF) (URSCIS TIONC)
B Sc. I	- 9	
SCIENCE	7	latiny
01.07.2019	80	Admission
3000/-	9	Budget
35109797297	10	Budget
STATE BANK OF INDIA CHHURIA	. II ~ 6	Name of Dank and Dranch
SBIN0003757	12	IF3C Code
645380916686 9644072065	13	Addistr Number Mobile No wh As As Ind.
9644072065	72	Nobile No
		No stuble black

प्रमाणित किया जाता है कि उपरोक्त सभी जानकारी सही है एवं सभी विद्यार्थियों का वैक खाता कमांक आधार से लिंक किया गया है।

UDDAL KUNIAR

महाविद्यालय-दृशिया जिल्ला-राजालां अस्त (च.म.)